Class XII Chapter 6 - Applicgtion of Derivatives Maths

Find the rate of change of the area of a circle with respect to its radius r when
@ r=3cm(b)r=4cm

Answer

The area of a circle (A) with radius (r) is given by,

A=m"

Now, the rate of change of the area with respect to its radius is given by,

dd  d N
= w | =2mr
dr ca’r( }
1. Whenr=3cm,
i _ 2n(3)=6m
dr

Hence, the area of the circle is changing at the rate of 6n cm?/s when its radius is 3 cm.
2. Whenr=4cm,
14 \
bt 2n(4)=8n
dr '

Hence, the area of the circle is changing at the rate of 8n cm?/s when its radius is 4 cm.

The volume of a cube is increasing at the rate of 8 cm3/s. How fast is the surface area
increasing when the length of an edge is 12 cm?
Answer
Let x be the length of a side, V be the volume, and s be the surface area of the cube.
Then, V = x> and S = 6x® where x is a function of time t.

— =8cm'/s
It is given that d

Then, by using the chain rule, we have:
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E{:{”{ _ i ["-1]= d {I_-.} Lf‘(z.;x:_u[‘c
dt ot v or ot
firz b “}
= L{ff 1".
Mow, as = i(ﬁr:) = i{ﬁ_‘r: ] . ﬂ [B}f chain ruh:]
dt dx dt
. Y 3
:|2x£=12x-[ S"J:£
et 3x° x
das 32 . 8 ,
= cm” /s = —cm”/s.
Thus, when x = 12 cm, @ 12 3

Hence, if the length of the edge of the cube is 12 cm, then the surface area is increasing
8

at the rate of 3 cm?/s.

The radius of a circle is increasing uniformly at the rate of 3 cm/s. Find the rate at which
the area of the circle is increasing when the radius is 10 cm.
Answer

The area of a circle (A) with radius (r) is given by,
A=mr

Now, the rate of change of area (A) with respect to time (t) is given by,

14 d; 4 d i .
ol f_[m--' ]i o & [H}-' chain rulc]
dit it Sy Pel]
It is given that,
PI'.
3 emis

dr
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dA =2mr(3)=6mr

ool

Thus, when r = 10 cm,
14 3,
&= 6m(10)=60m cm’ /s

df

Hence, the rate at which the area of the circle is increasing when the radius is 10 cm is
60n cm?/s.

An edge of a variable cube is increasing at the rate of 3 cm/s. How fast is the volume of

the cube increasing when the edge is 10 cm long?

Answer

Let x be the length of a side and V be the volume of the cube. Then,

V=x
di

o dx
i

3 —
dl (By chain rule)

It is given that,

—=3cm/s
dr

dl’ | .
=3x"(3)=9x"
i ( }

Thus, when x = 10 cm,
dV

=9(10)" =900 cm® /s
dt
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Hence, the volume of the cube is increasing at the rate of 900 cm>/s when the edge is 10

cm long.

A stone is dropped into a quiet lake and waves move in circles at the speed of 5 cm/s. At
the instant when the radius of the circular wave is 8 cm, how fast is the enclosed area
increasing?

Answer

The area of a circle (A) with radius (r) is given by 4 =T

Therefore, the rate of change of area (A) with respect to time (t) is given by,

dr

dd  d a d 2y dr dr
= (m‘ ] {m‘ —=2mr
' sl dr [By chain rule]

drdr

dr )
— =5 cm/'s
It is given that df
Thus, when r = 8 cm,
dd a
dr

Hence, when the radius of the circular wave is 8 cm, the enclosed area is increasing at

2n(8)(5)=80n

the rate of 80n cm?/s.

The radius of a circle is increasing at the rate of 0.7 cm/s. What is the rate of increase of
its circumference?

Answer

The circumference of a circle (C) with radius (r) is given by

C = 2nr.

Therefore, the rate of change of circumference (C) with respect to time (t) is given by,
dC _dC _ dr

o drodre (By chain rule)
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_d Em"jlﬂ

dr "ot
=2n-£
dt

It is given that 47

is2m(0.7)=1.
Hence, the rate of increase of the circumference]S ﬁ({ } l.4m cm/s

The length x of a rectangle is decreasing at the rate of 5 cm/minute and the width y is
increasing at the rate of 4 cm/minute. When x = 8 cm and y = 6 cm, find the rates of
change of (a) the perimeter, and (b) the area of the rectangle.

Answer

Since the length (x) is decreasing at the rate of 5 cm/minute and the width (y) is

increasing at the rate of 4 cm/minute, we have:

th o ? L
i = =5 cm/min @ =4 cm/min
{ff and df
(@) The perimeter (P) of a rectangle is given by,
P=2(x+y)
P _[d )
BT 0 c_‘<+uf1, =2(-5+4)=-2 cm/min

Cdt T\ dt)
Hence, the perimeter is decreasing at the rate of 2 cm/min.
(b) The area (A) of a rectangle is given by,
A=xxy

A dv v

an _ax e 9

y4x-—=-Sp+4y
Sdr o dr ot ’

14 S 2,
a2 = [—5 x6+4x8) cm® /min=2 cm’ /min

When x =8 cmand y = 6 cm,
Hence, the area of the rectangle is increasing at the rate of 2 cm?/min.
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A balloon, which always remains spherical on inflation, is being inflated by pumping in
900 cubic centimetres of gas per second. Find the rate at which the radius of the balloon
increases when the radius is 15 cm.

Answer

The volume of a sphere (V) with radius (r) is given by,

4
V==m

~Rate of change of volume (V) with respect to time (t) is given by,

dv _dv dr

dr dr dt [By chain rule]
fj f4 1": {fr

— =7 |-—

T3 ) dr
= dqr’ a"_r‘
df
ﬁ =900 cm’ /s
It is given that @
900 = 4nr’ A
dt
dr 900 225
= — = —=—
df  dmrs wr

Therefore, when radius = 15 cm,
ar 225 1

dt m(15) =
Hence, the rate at which the radius of the balloon increases when the radius is 15 cm
1

— cms.
isT
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A balloon, which always remains spherical has a variable radius. Find the rate at which
its volume is increasing with the radius when the later is 10 cm.

Answer

* 3
V =—mr

The volume of a sphere (V) with radius (r) is given by 3
Rate of change of volume (V) with respect to its radius (r) is given by,

- { ‘. ; .
dv _d im“ |=i:1:{3r"}=4m-'1
dr drl 3 J 3

Therefore, when radius = 10 cm,
iV 2

= 4n(10)’ =400z

dr

Hence, the volume of the balloon is increasing at the rate of 400n cm?®/s.

A ladder 5 m long is leaning against a wall. The bottom of the ladder is pulled along the
ground, away from the wall, at the rate of 2 cm/s. How fast is its height on the wall
decreasing when the foot of the ladder is 4 m away from the wall?

Answer

Let y m be the height of the wall at which the ladder touches. Also, let the foot of the
ladder be x maway from the wall.

Then, by Pythagoras theorem, we have:

x* + y? = 25 [Length of the ladder = 5 m]

o
= p=+25-x"

Then, the rate of change of height (y) with respect to time (t) is given by,
dv -x  dx

@ os—i dt

— =2 cm/s
It is given that df
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cdy -2x
b = —,—1
dt - \25-x°
Now, when x = 4 m, we have:
ﬂ . —2x4 8

dt J25-4° 3

— cm/'s
Hence, the height of the ladder on the wall is decreasing at the rate of 3

k]
§ = j . . .
A particle moves along the curve by =x *< Find the points on the curve at which the y-

coordinate is changing 8 times as fast as the x-coordinate.

Answer

The equation of the curve is given as:

6y=x"+2

The rate of change of the position of the particle with respect to time (t) is given by,

el 2 dx

H—=3x"—+10
et dt
Zﬂ = x ﬂ
dt ot
When the y-coordinate of the particle changes 8 times as fast as the
(4 _ye)
x-coordinate i.e., dt dt , we have:
2|'/ 3 clx ] _ 2 dlx
ol i
16 dx _ ) elx
ot et
5 dx
= («? —m)—‘ ~0
clt
=y’ =16

= x==4
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x=4$y:4' +2:66:“
When 6 6
~4) +2
1_—4-.J=[ ) +2_ 62 _ 3l
When 6 6

Hence, the points required on the curve are (4, 11) and *

The radius of an air bubble is increasing at the rate of 2 cm/s. At what rate is the

volume of the bubble increasing when the radius is 1 cm?

Answer
The air bubble is in the shape of a sphere.

Now, the volume of an air bubble (V) with radius (r) is given by,

4
V=—m

The rate of change of volume (V) with respect to time (t) is given by,

dr 4 d (r;}_dr

R P - [Hychain rule]
dadt 3 dr ct
4 Ly dr
=—qm|3r | —
373 )m
:41[':£
clt

ar 1 )
—=— cm/s

It is given that @f 2

Therefore, when r = 1 cm,

V +f ]
d =dn(1) lJ:Zn cm’ /s
ot L2

Hence, the rate at which the volume of the bubble increases is 2n cm?/s.
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A balloon, which always remains spherical, has a variable diameter
rate of change of its volume with respect to x.
Answer
The volume of a sphere (V) with radius (r) is given by,
4
V=—m

It is given that:

_3(2¢41)
Diameter
3
= pr="(2x+1
S(2x+1)

4 (3Y P9 \
SV =—a| — [ (2x+]) =—mn(2x+]
3Lﬂ{* ) =)

Hence, the rate of change of volume with respect to x is as

av_9 d 27
dv 16 dx

(2.\‘+]);= ? xx_'i[jx+|]'1x2: '1_

T rr[jx+l]

(2x+1)

b |

-Find the

Sand is pouring from a pipe at the rate of 12 cm?/s. The falling sand forms a cone on the

ground in such a way that the height of the cone is always one-sixth of the radius of the

base. How fast is the height of the sand cone increasing when the height is 4 cm?

Answer

The volume of a cone (V) with radius (r) and height (h) is given by,
|

V=—mrh

It is given that,

.ﬁ'=lf' = r =0k
[§]

V= ;’I[{!"Jh}? h=12nh’

2
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The rate of change of volume with respect to time (t) is given by,

dv =12x d [Fr"‘]-dh
dt dh dt [By chain rule]
= 12n:[31r:1]ﬁ
C dt
~ 36z
dt
dl

—=12cm’/s
It is also given that A

Therefore, when h = 4 cm, we have:
dh
dt
dh 12 1
S ee—m—— — ——
df 361‘L{Iﬁ_} 48n

12=36m(4)

Hence, when the height of the sand cone is 4 cm, its height is increasing at the rate

The total cost C (x) in Rupees associated with the production of x units of an item is
given by
Cl[x] =0.007x" —0.003x" +15x+ 4000

Find the marginal cost when 17 units are produced.

Answer

Marginal cost is the rate of change of total cost with respect to output.
dC

=—= f}.l’}f}?{h: ) - ﬂ.ﬂﬂE{Z.‘c] +15
~Marginal cost (MC) dx

=0.021x" —0.006x+15
When x = 17, MC = 0.021 (17%) — 0.006 (17) + 15
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= 0.021(289) — 0.006(17) + 15

= 6.069 — 0.102 + 15

= 20.967

Hence, when 17 units are produced, the marginal cost is Rs. 20.967.

The total revenue in Rupees received from the sale of x units of a product is given by
R(x)=13x" +26x+15

Find the marginal revenue when x = 7.
Answer
Marginal revenue is the rate of change of total revenue with respect to the number of
units sold.
_dR
~Marginal Revenue (MR) Cdv = 13(2x) + 26 = 26x + 26

When x = 7,
MR = 26(7) + 26 = 182 + 26 = 208

Hence, the required marginal revenue is Rs 208.

The rate of change of the area of a circle with respect to its radius rat r= 6 cm is
(A) 10n (B) 12n (C) 8n (D) 11n

Answer

The area of a circle (A) with radius (r) is given by,

A=mr

Therefore, the rate of change of the area with respect to its radius ris

dd d

= (H}':}: 27
dar dr :
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+‘Whenr =6cm,

14 : 5,
- 2axb=12mecm /s

»

Hence, the required rate of change of the area of a circle is 12n cm?/s.

The correct answer is B.

The total revenue in Rupees received from the sale of x units of a product is given by

ri=3; 2 + r+5 P
R(x)=3x"+36x . The marginal revenue, when ¥ =13js

(A) 116 (B) 96 (C) 90 (D) 126
Answer
Marginal revenue is the rate of change of total revenue with respect to the number of

units sold.
_dR
~Marginal Revenue (MR) dx = 3(2x) + 36 = 6x + 36

~When x = 15,

MR = 6(15) + 36 =90 + 36 = 126
Hence, the required marginal revenue is Rs 126.

The correct answer is D.
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Show that the function given by f(x) = 3x + 17 is strictly increasing on R.

Answer

Let ™ and x, be any two numbers in R.

Then, we have:
x <x,=3x <3x,=3x, +17 <30, +17= f(x) < f(x,)

Hence, fis strictly increasing on R.

Alternate method:
f'(x) = 3 > 0, in every interval of R.

Thus, the function is strictly increasing on R.

Show that the function given by f(x) = e is strictly increasing on R.

Answer

Let ¥ and x, be any two numbers in R.

Then, we have:
x<x, =2 <2x, = < = f(x)<f(x,)

Hence, fis strictly increasing on R.

Show that the function given by f(x) = sin x is

~.

i "y I,r
fom n
°3) 2
(a) strictly increasing in </ (b) strictly decreasing in * 2
(c) neither increasing nor decreasing in (0, n)
Answer

The given function is f(x) = sin x.

wf'(x)=cosx
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-

,'I.‘F|I ﬂ.%\].cos x =0,

)
(a) Since for each we have-‘f {"} U_
¢ 5
[ T
193]
Hence, fis strictly increasing in* <.
t‘F{R ;111ﬁ cos x <0
- - o] 4 = -
x)<
(b) Since for each ~ “2 , we have S'(x) 0
Ilrn A
_.n

Hence, fis strictly decreasing in* 2,
(c) From the results obtained in (@) and (b), it is clear that f is neither increasing nor

decreasing in (0, n).

Find the intervals in which the function f given by f(x) = 2x*> — 3x is
(@) strictly increasing (b) strictly decreasing
Answer

The given function is f(x) = 2x*> — 3x.

_f"{x}: 4x-3
";
S x)=0 ===
£(x) -
3 ( 3 (3 ]
— —00,— —, o0 |,
Now, the point 4 divides the real line into two disjoint intervals i.e., 4) and* 4
. -
=t : =
3
4
' 3, .
| —0,— |, f'(x)=4x-3<0,
In interval* 4)
i 30
—an, —
Hence, the given function (f) is strictly decreasing in interval * 4) .

{
ix,] £'(x)=4x-3>0.

In interval 4
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3 ]
— .0

Hence, the given function (f) is strictly increasing in interval 4 .

Find the intervals in which the function f given by f(x) = 2x®> — 3x*> — 36x + 7 is
(@) strictly increasing (b) strictly decreasing
Answer

The given function is f(x) = 2x> — 3x*> — 36x + 7.

S'(x)=6x" —6x-36=6(x"—x—6)=6(x+2)(x-3)

‘._.fq{""'}:u& x=-2,3

The points x = —2 and x = 3 divide the real line into three disjoint intervals i.e.,

(—e0,-2),(-2.3), and (3,).

A=
Y=

}
~13 3

(—o0,-2) and (3,2), /"(x)

In intervals is positive while in interval

(-2, 3), / {T) is negative.
Hence, the given function (f) is strictly increasing in intervals

{—-:3,—2} and {J'm} , while function (f) is strictly decreasing in interval

(-2, 3).

Find the intervals in which the following functions are strictly increasing or decreasing:
(a) x> + 2x — 5 (b) 10 — 6x — 2x°

(c) =2x> — 9x*> — 12x + 1 (d) 6 — 9x — x*

(e) (x +1)° (x = 3)°
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Answer
(a) We have,

fx)=x"+2x-5
o f (%) =2x+2
Now,

F=0, .,

Point x = —1 divides the real line into two disjoint intervals i.e.,

In interval{_ﬂ!_”s.v‘rr(-f} =2x+2<0.

(—o0,—1).

~f is strictly decreasing in interval

Thus, fis strictly decreasing for x < —1.

n intervaI[_]’m}’f (x)=2x+2>0.

— 1,007,
~ fis strictly increasing in interval[ L }

Thus, fis strictly increasing for x > —1.
(b) We have,

f(x) = 10 — 6x — 2x?

S (x)=-6-4x

Now,

_,I""{J.'] =(l=xr= —%
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-
2

r=-—=

The point 2 divides the real line into two disjoint intervals

f 30 300
Le',L—m,—EJ and [_E’m)'

f 3}
—0,—— X< —— ¥
x)=—-6-4 .
In intervalL 2) i.e., when 2 f(l} 6 <l
X< —=
~ fis strictly increasing for 2,
3 ) 3
——.0:'_) X :3' —-— ¥
X|=—-6-4 .
In intervalL 2 i.e., when z,f{l’] 6 <l
3
X=——
~ fis strictly decreasing for 2,

(c) We have,

f(x) = —2x> —9x*> — 12x + 1

" f(x) =627 —18x—12=—6(x" +3x+2)=—6(x +1)(x +2)
MNow,

f(x)=0 =>x=-landx=-2

Points x = —1 and x = =2 divide the real line into three disjoint intervals

(—o0,-2),(-2,-1), and (-1,).

i.e.,

(—o0,—2) and (-1,%0)

In intervals

f(x)==6(x+1)(x+2) <0

i,e., whenx < -2 and x > -1,
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~ fis strictly decreasing for x < =2 and x > —1.

Now, in interval (-2, —1) i.e., when -2 < x < -1,

« fis strictly increasing for —2<x<-1

(d) We have,

fx)=6-9x—x’
S f(x)=-9-2x
Now, [

; . g
(x)=0 givesx=—2

9
===
The point 2 divides the real line into two disjoint intervals i.e.,
g0 8] j
[—ao,—— and [——,uo
2) g
f gh
—0,—— i " I .
In interval * 2) i.e., for 2, f'(x)=-9 2"}{}.
X< ==
-~ fis strictly increasing for 2,
o M 9
__HCOJ X = o
x)=-9-2 .
In interval\ 2 i.e., for z,j (x) 2x<0
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X ——
~ fis strictly decreasing for 2,

(e) We have,

fix) = (x + 1) (x = 3)°

f'{x}=3{x+l}2{,‘c—3]'1+3{x—3}3{x+1}3
=3[.t+l]£{x—3]:[x—3+x+|]
=3(x+1)" (x—3) (2x-2)
=6(x+1)" (x=3) (x~1)

MNow,

f(x)=0 = x=-1,3,1

The points x = =1, x = 1, and x = 3 divide the real line into four disjoint intervals

i.e.,{_x’_” (-1, 1), (1, 3), and %)

In intervals{_?:’_l}and (-1, 1), f(x)=6(x+1) {x_j.};{x_l}{ﬂ.

~ fis strictly decreasing in intervals{_x’_l}and (-1, 1).
In intervals (1, 3) and{im}, f(x)=6(x+1) (x=3) (x~1) >0

3,
~ fis strictly increasing in intervals (1, 3) and{ ao].
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: 2x
v=log(1+x) x> -1
Show that 2+x , iIs an increasing function of x throughout its

domain.
Answer
We have,

2x
r=log(l+x)——
y=log(1+x) s

cdy 1 (2+x)(2)-2x(1) 1 4 2

“dx l+x (2+x]2 1+x {2+x)? {2+r):

T (24x)

= x’ =0 (2+x)#0asx>—1]

=x=10

Since x > —1, point x = 0 divides the domain (-1, o) in two disjoint intervals i.e., —1 <
x < 0andx > 0.

When —1 < x < 0, we have:
x<0=x" >0

x>-1=(2+x)>0 :‘>|[2+.1:}j =0

X

— =10
(2+x)

Sy =

Also, when x > 0:

¥>0=x" >0, (24+x) >0

y'= al =1

=

(2+x)

Hence, function fis increasing throughout this domain.
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Class XII

. Coy=[x(x-2)] _ .
Find the values of x for which is an increasing function.

Answer
We have,
y=[x(x-2) =[#*-2x]
.-.ﬁz_}.-‘:2{_r:—21‘}[2x—2}=4I(-Y_2}[I_1}
ax
I-Iﬁ—[} = x=0x=2x=
ax

The points x = 0, x = 1, and x = 2 divide the real line into four disjoint intervals i.e.,

(—=,0), (0,1) (1.2),and (2,).

ﬁ{ﬂ
In intewals[_m'uﬁ and []‘2}, dx

(—o0,0) and (1,2)

~ y is strictly decreasing in intervals

ﬁ::-I[].

However, in intervals (0, 1) and (2, o), dx

~ y is strictly increasing in intervals (0, 1) and (2, ).

-y is strictly increasing for 0 < x < 1 and x > 2.

4sin &
Y= Breosd) © 0.3
Prove that { +eos ) is an increasing function of 6 in- 2
Answer

We have,
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4sin
{2+ ::056‘)

Cdy (2+cos@)(4cos@)—4sin @ (-sin o)
T (2+1.:c1r5r5"]'1
:Huusﬁ'+4m.~;2€+45inz€_1
[2+m56’}2
_ 8cosfl+4 .
{2+cnm‘?)?

Now, & =1,
{

Becost+ 4
= Srm———
(2+cosd)

= 8cosf+4 =4+cos’ @+ 4dcosd

= cos’ #—dcosf =0

= cost(cosd—4)=0

= cost?=0or cos =4
Since cos 6 # 4, cos 6 = 0.

CDS!‘?:ﬂDH:g

Now,

dy 3-:-:55,15’:\‘+-’-L—(4+-:-:;3J €+4m59) _dcosf-costd cos (4 - cost)
dx (2 +cosd) (2+cos)’ (2+cos@)
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’ \
(0,
In interval * 4, we have cos 8 > 0. Also, 4 > cos 8 =4 — cos 6 > 0.

[

s.cos@(4—cosf) =0 and also (2+ cos H‘}: =0
cos(4 - cosf)
_, LOSTAR T EOT)

— =)
(2+cosb )

Therefore, y is strictly increasing in interval *

19
x=0andx=—.
Also, the given function is continuous at 2

I
ﬂ._}
Hence, y is increasing in interval- ! .

Prove that the logarithmic function is strictly increasing on (0, o).
Answer
The given function is f (x) = log x.

f(x)=

y 1
! {r} ===
It is clear that for x > 0, X

Hence, f(x) = log x is strictly increasing in interval (0, o).

Prove that the function f given by f(x) = x> — x + 1 is neither strictly increasing nor
strictly decreasing on (-1, 1).

Answer
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The given function is f(x) = x> — x + 1.

s (x)=2x-1
Now, f(x)=0=>x :%.

I

The point 2 divides the interval (=1, 1) into two disjoint intervals

(] -
L—L —]and[—.|L
i.e., 2, 2

I A

(o, L
2

Now, in interval* 4

J(x)=2x-1<0.

{ 1"
-1, |
Therefore, f is strictly decreasing in interval * 2, .
i ] i .
— 1 (x)=2x=1>0
However, in interval * /
1

1)
Therefore, fis strictly increasing in intervalL 2

A

Hence, fis neither strictly increasing nor decreasing in interval (-1, 1).

o
=
[

Which of the following functions are strictly decreasing on

(A) cos x (B) cos 2x (C) cos 3x (D) tan x
Answer

(ny et (¥) =05

S (x)=—sinx
[ ) . .
0,— (x)=—sinx<0.
In interval* =/
r‘U E\
Sh(x)=cosx. o L2
is strictly decreasing in interval
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(B) Let fi(x)=cos2x.

S (x)=-2sin2x

Now, ﬂ-»:xqg::-ﬂ{23.‘c:n:bsinl.r}ﬂ:}—isinix{ﬂ

S (x)=-2sin2x <0 on[U,g]

0, EJ
2 .

Shlx)=cos2x S (
f{ } is strictly decreasing in interval

(©) Let s (¥) = cos3x.
< f1(x) = -3sin3x
Now. f;(x) = 0.

= . (o
= sma.r=(l::~ax=ﬂ:.u.w.re| G’E]
b

T
= x=—
3
T
xX= E ( U! _J
The point 3 divides the interval 2 into two disjoint intervals

I/ Y
Now, in interval | U.g ].f; (x)=-3sin3x<0 [m D<x< % = 0<3x< n}.
L3, 3

(05
~ f3 is strictly decreasing in interval 3 .

. : 3
However. in interval [L E]. fi(x)=-3sin3x >0 |:c.'.ﬁ' Tex<ton<ing —I}
3 2 - 3 7 el
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{ N

| =
[

« f5 is strictly increasing in interval *

Hence, f3 is neither increasing nor decreasing in interval - -

(D) Let fi(x)=tanx.

S fi(x)=sec’ x

R A ,
0, — |.__fj(.r}:sec' x>0
Ininterval~ =~/

« f4 is strictly increasing in interval * 4

Therefore, functions cos x and cos 2x are strictly decreasing in *

Hence, the correct answers are A and B.

On which of the following intervals is the function f given by
decreasing?

fn \
(A) (0, ]](B) L2’ EJ

r-' A
0,
O

Answer

| =

4 (D) None of these

We have,

Fx)=x"+sinx-1

strictly
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Fx)=x"+sinx-1
oS (x)=100x" +cos x

In interval (0, 1), cosx>0and 100x™ = 0.

s (x)=0.

Thus, function fis strictly increasing in interval (0, 1).

(E.n: ].cos x <0 and 100 x™ =0. Also. 100%™ >cos x
In interval

5

rwom(%e)

(n
5
Thus, function f is strictly increasing in interval 2 .

In interval

0, g |,cmsx >0 and 100x™ = 0.

h%

S 100x™ 4 cosx =0

b

= f"(x)>0on [:}. EJ

i

b2 | A
—

0,
~ fis strictly increasing in intervalL

Hence, function fis strictly decreasing in none of the intervals.

The correct answer is D.

. . . x)=x"+ax+1, .
Find the least value of a such that the function f given f{ ) is strictly

increasing on (1, 2).
Answer

We have,
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f(x)=x"+ar+1
 f'(x)=2x+a

Now, function f will be increasing in (1, 2), if"f {1} g t“}in (1, 2).
_f"{,r}:»U

>2x+a>0

= 2x > —a

=l
X>—
A

Therefore, we have to find the least value of a such that

x> _:?1 whenx (1, 2).

—id
::~.r:>T (when l<x<2)

Thus, the least value of a for f to be increasing on (1, 2) is given by,

=1

=l=a=-2

'\"|:; IJ|:I:‘

Hence, the required value of a is —2.
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Let I be any interval disjoint from (=1, 1). Prove that the function f given by
. 1
i [A] =X+—
X is strictly increasing on I.
Answer

We have,

,,i""{,r}—ﬂﬁ]—ﬁJ = x =zl
X

The points x = 1 and x = —1 divide the real line in three disjoint intervals i.e.,

(—o0,—1),(-1, 1), and (1, =)

Ininterval (=1, 1), it is observed that:
~l<x=l
= x <1

|

=l —, xz0
&2

= 1=

1
—< ), x =0
x°

L f'(x)=1-- <0 on (-1, 1)~ {0
X :

—1 1y~
- fis strictly decreasing on (=1 1) ~10] .

In intervals{_x’_” and (1, m}, it is observed that:



Class XII Chapter 6 - Applic;tion of Derivatives Maths

r<-lorl<x

=y >1
=] > lﬁ

X

|
= 1=-—=10

-

X

s (x)=1 L“«ﬂ on (—o,~1) and(1, =).

X

(—oo, 1)and(1, 'r}

~ fis strictly increasing on

Hence, function fis strictly increasing in interval I disjoint from (-1, 1).

Hence, the given result is proved.

_—

[

m
0]

Prove that the function f given by f(x) = log sin x is strictly increasing on L “=“and

i

el |_

strictly decreasing on* 2
Answer
We have,

f(x)=logsinx

: f'{_'r): ——cosx=cotx
sy
I A
0, —[.f"(x)=cotx=0.
In interval® =/
FU‘ E‘]
2

- fis strictly increasing in
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A
J =cotx =< (.

r\.a|=|

i
In intervalL

Ml:l
‘H—-"

f
~f is strictly decreasing |nL

I'( !

3| A

0,
Prove that the function f given by f(x) = log cos x is strictly decreasing on L “and

e, }
L T
strictly increasing on 2
Answer
We have,
f(x)=logcosx
1

S f =—(—sinx)=—tan:
f'(x) Cosx{ sinx) an x

f

=y

n
0, ;]. tanx > 0= —tanx <0,
In interval *

) )
S f'(x)<0on [ﬂ. EJ

I'( k!

b | =

0,
~f is strictly decreasing onL 4

[
—, m|, tanx <0 = —tanx >0,
In interval *

= f(x)=00n [% nj
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fn i
—, T

-fis strictly increasing on“2 /.

=x —3x" +3x-
Prove that the function given by f{\:] ’ v+ 3x =100 is increasing in R.
Answer

We have,

Fx)=x"=3x"+3x-100

S(x)=3x"—6x+3
=3(x" —2x+1

. ¥

=3(x-1)

For any x€R, (x — 1)? > 0.

Thus, J {Y} is always positive in R.

Hence, the given function (f) is increasing in R.

g = 2 _l.. . . .
The interval in which ¥ =% € s increasing is

(~0.0) (2.)

(A)

Answer

(B) (=2, 0) (C) (D) (0, 2)

We have,

y=xe"
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dy s _s !
D vty = xe (2-x)
afx
dv
Nuw,;l =0
dx

= x=0andx=2
The points x = 0 and x = 2 divide the real line into three disjoint intervals

e.,[""”’ 0), (0, 2),and (2, =).

oy -‘} . “f - _.-T
In intervals{ s 'U]and{-. »)./ {‘T}{ Oase is always positive.

~fis decreasing on[_x’ 0)and (2, ).

In interval (O, 2),'f {1} >0,

~ fis strictly increasing on (0, 2).

Hence, fis strictly increasing in interval (0, 2).

The correct answer is D.
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Find the slope of the tangent to the curve y = 3x* — 4x at x = 4.

Answer
The given curve is y = 3x* — 4x.
Then, the slope of the tangent to the given curve at x = 4 is given by,

“J—‘} =12x' —4]  =12(4) -4=12(64)-4=764
dy |, =i

x—1
Find the slope of the tangent to the curve  X¥—2 , X ¥ 2atx = 10.
Answer
x—1
.-.I’I =

The given curve is x-2,

Cdy _(x=2)(1)-(x-1)(1)

" (x=2)

(-2 (x-2)

Thus, the slope of the tangent at x = 10 is given by,

ﬂw i -t A
delo (x-2)")  (10-2)" 64
-1

Hence, the slope of the tangent at x = 10 is 64

Find the slope of the tangent to curve y = x> — x + 1 at the point whose x-coordinate is

2.

Answer
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— 3 .
The given curve is? =% ~* +1
ey .
S =3y =1
alx

al
‘{‘r [ .

s
The slope of the tangent to a curve at (xq, ¥o) is
It is given that xo = 2.

Hence, the slope of the tangent at the point where the x-coordinate is 2 is given by,

v 3 2
D 3221 =3(2F -1=12-1=11
dx—‘“ -|"3 (2)

Find the slope of the tangent to the curve y = x> — 3x + 2 at the point whose x-
coordinate is 3.

Answer

i
b — ot T
The given curve is¥ =¥ 3x+ -,

Cdy
Cd

=3x -3

ol
i [EPY .

e
The slope of the tangent to a curve at (xq, ¥o) is
Hence, the slope of the tangent at the point where the x-coordinate is 3 is given by,

dy z _ z _ 1A,
E} =3x -3] =3(3)'-3=27-3=24

T
g="
Find the slope of the normal to the curve x = acos®6, y = asin®6 at 4.

Answer

It is given that x = acos®0 and y = asin’6.
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fi 4 . 3o
d—; =3acos’ O(-sin#) =-3acos’ Psind

P 3ugin’ A(cos®)
df

dy
cdy _\d#) 3asin’@cos  sinf

== = —— = =—tan &
abx [cix) —3agcos” Fsiné cosé
de
="
Therefore, the slope of the tangent at 4is given by,
d—}} =—tan@], « = —tan X =]
dx |g_n S 4
4

.,
7 = — 1s given by,
Hence, the slope of the normal at
1 =1

slope of the tangent at # = z

Question 6:

Find the slope of the normal to the curve x = 1 — a sin 8, y = b cos?0 at

Answer
It is given that x = 1 — a sin 6 and y = b cos?6.

ﬂ =—acost and v =2bcosB(—sin0)=—-2bhsinBOcos O
da B

[z {{1. A
dy ka‘E}J —2hsinfBcosB  2h
So—=—= = =—sinf
dx [ dx ] —acosh a
dt
g =

| =

Therefore, the slope of the tangent at is given by,
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dr} 2b . } 2b . w 2b
i =——sinf ) __SIHE__

dx ] a o

T,
? = — is given by,
Hence, the slope of the normal at

1 | bl

- e
slope of the tangent at & =

Find points at which the tangent to the curve y = x> — 3x*> — 9x + 7 is parallel to the x-
axis.
Answer

A I PP | b
The equation of the given curve is¥ = * 337 -9x+7.

ﬂ =3y —6x-9
x

Now, the tangent is parallel to the x-axis if the slope of the tangent is zero.
237 —6x-9=0=x"-2x-3=0

=(x=3)(x+1)=0

—x=3orx=-1
Whenx=3,y=3)>-33)?-9B3)+7=27-27-27+7=-20.
Whenx = -1,y = (-1} -3(-1)?>-9(-1)+7=-1-3+9+7 =12,
Hence, the points at which the tangent is parallel to the x-axis are (3, —20) and

(-1, 12).

Find a point on the curve y = (x — 2)? at which the tangent is parallel to the chord
joining the points (2, 0) and (4, 4).

Answer

If a tangent is parallel to the chord joining the points (2, 0) and (4, 4), then the slope of
the tangent = the slope of the chord.
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4
The slope of the chord is 4-—

=

_3 s
>

[ o]

Now, the slope of the tangent to the given curve at a point (x, y) is given by,
dy
e =
Since the slope of the tangent = slope of the chord, we have:
2x-2)=2

=x—2=l=x=3

Whenx=3, y=(3-2) =1.

2(x-2)

Hence, the required point is (3, 1).

Find the point on the curve y = x> — 11x + 5 at which the tangentis y = x — 11.
Answer

The equation of the given curveis y = x> — 11x + 5.

The equation of the tangent to the given curve is given as y = x — 11 (which is of the

formy = mx + ¢).

~Slope of the tangent = 1

Now, the slope of the tangent to the given curve at the point (x, y) is given by,
v
dx

Then, we have:

3 ~11=1

=3x" —11

=
>0
o
35
X
Il

2,y=(2)°-11(Q2)+5=8-22+5=-9.
Whenx = -2,y =(-2) -11(-2)+5=-8+22+ 5 = 19,
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Hence, the required points are (2, —9) and (-2, 19).

Find the equation of all lines having slope —1 that are tangents to the curve

1

Answer
1

y=—, x=l
The equation of the given curve is ¥~
The slope of the tangents to the given curve at any point (x, y) is given by,
dv 1
dv  (x-1)
If the slope of the tangent is —1, then we have:

(x-1)"
—(x-1) =1
= x—1==I
—x=2 10

Whenx =0,y =-1andwhenx =2,y =1.
Thus, there are two tangents to the given curve having slope —1. These are passing
through the points (0, —1) and (2, 1).

~The equation of the tangent through (0, —1) is given by,

y—(-1)=-1(x-0)
= y+l=—x
= y+x+1=0
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~The equation of the tangent through (2, 1) is given by,

y—1=-1(x-2)

>y—-1=-x+2

>y+x—-3=0

Hence, the equations of the required linesarey + x+ 1 =0andy + x — 3 =0.

Find the equation of all lines having slope 2 which are tangents to the

V= ,x=3
curve x—3
Answer
1
V= x#3
The equation of the given curve is x—3

The slope of the tangent to the given curve at any point (x, y) is given by,

ﬁ 3 1
dx {,1'—3]

ey

If the slope of the tangent is 2, then we have:
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—(x-3) ==
(x-3F =3
This is not possible since the L.H.S. is positive while the R.H.S. is negative.

Hence, there is no tangent to the given curve having slope 2.

Find the equations of all lines having slope 0 which are tangent to the curve
B 1
ToxT=2x43 .
Answer
1
}J = —_—
The equation of the given curve is X —2x+3

The slope of the tangent to the given curve at any point (x, y) is given by,
dv  —(2x-2)  -2(x-1)

dr {x: —2x+3}: _{x3—2.1:+3:]':

If the slope of the tangent is 0, then we have:

—2(x-1) __o
(x: —2x+ 3}_
= 2(x-1)=0
= x=]
p=—t =1
Whenx =1, 1-2+3 2

[

2

1,
~The equation of the tangent throughL ‘is given by,
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p-—=0{x-1)
=y l={‘]
T2
1
= yp=
2

b2 | —

Find points on the curve 9 16 at which the tangents are
(i) parallel to x-axis (ii) parallel to y-axis
Answer
x oy
+0—=1
The equation of the given curve is ¥ 16

On differentiating both sides with respect to x, we have:

2x 2y oav

—_— )
9 16 dx
dv —16x
—_——=
dx 9y

-16x

0,

(i) The tangent is parallel to the x-axis if the slope of the tangent is i.e., 0 9y

which is possible if x = 0.

Then, 9 16 forx =0

=y =16=y=14

Hence, the points at which the tangents are parallel to the x-axis are
(0, 4) and (0, — 4).
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(ii) The tangent is parallel to the y-axis if the slope of the normal is 0, which
-1 Qy
— - "1 | ”
-1 wa l6x

9y

gives[ =>y=0.

Then, ¥ 16 fory = 0.

= x=1=%3

Hence, the points at which the tangents are parallel to the y-axis are
(3,0) and (- 3, 0).

Find the equations of the tangent and normal to the given curves at the indicated points:
(i)y = x* —6x> + 13x> — 10x + 5 at (0, 5)
(i) y = x* — 6x° + 13x*> — 10x + 5 at (1, 3)
(i) y = x> at (1, 1)
(iv) y = x* at (0, 0)
(=X
(v) x=cost y=sintat 4
Answer
(i) The equation of the curve is y = x* — 6x> + 13x*> — 10x + 5.

On differentiating with respect to x, we get:

D 4 _18x% +26x-10
dx

5] i

{A'I.T i, )

Thus, the slope of the tangent at (0, 5) is —10. The equation of the tangent is given as:
y—5=-10(x - 0)
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>y-5=-10x

=>10x+y =5

=1 1

Slope of the tangent at (0, 5) "0

The slope of the normal at (0, 5) is

Therefore, the equation of the normal at (0, 5) is given as:

|
5= (x—0
y=5=15(x=0)

=10y 50 = x
= x—10py+30=10
(ii) The equation of the curve is y = x* — 6x> + 13x*> — 10x + 5.

On differentiating with respect to x, we get:

ﬁ =4x' —18x" +26x—-10
dx

“ﬂ —4-18426-10=2
dv |, 5

Thus, the slope of the tangent at (1, 3) is 2. The equation of the tangent is given as:

y-3=2(x-1)
= y—-3=2x-2
= y=2x+1
-1 =1

Slope of the tangent at (1, 3) N

The slope of the normal at (1, 3) is

Therefore, the equation of the normal at (1, 3) is given as:
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y—3= —l{x— 1)

2 \
= 2y—6=—x+1
= x+2y-T7=0
(iii) The equation of the curve is y = x°.

On differentiating with respect to x, we get:

d' 4
T
dx
v 2
: =3(1) =3
ol =30
Thus, the slope of the tangent at (1, 1) is 3 and the equation of the tangent is given as:
y-1=3(x-1)
= y=3x-2

-1 -1

Slope of the tangent at (1, 1) - 37

The slope of the normal at (1, 1) is
Therefore, the equation of the normal at (1, 1) is given as:

-1
p—l=—/(x-1
y-1=5(x-1)
= 3y-d=—x+I
= x+3y-4=10
(iv) The equation of the curve is y = x°.
On differentiating with respect to x, we get:
dy _
dx
e
b } »
dx (0, )

Thus, the slope of the tangent at (0, 0) is 0 and the equation of the tangent is given as:
y—0=0(x—-0)

2x

>y=0
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-1 1

The slope of the normal at (0, 0) is Slope of the tangent at (0,0) 0\ pich is not

defined.

Therefore, the equation of the normal at (xo, yo) = (0, 0) is given by
x=x,=0.

(v) The equation of the curve is x = cos t, y = sin t.

x=cost and y =sint

elx . dy
e—— = =R, —— =C05/f
elt ot
"(afl*]
dv |
dv \ di COS? __ ots
el a’x\"| sinf
dt )
Lﬁ’-‘
— =—cott=-1
dx | =
4
bl
t=—
OThe slope of the tangent at 4is —1.
T 1 1
t=—, X=—= ancly:?.
When 4 V2 WL

5,

Si-

r=% i.e.,at“%,

Thus, the equation of the tangent to the given curve at

::»:r+y—vE:ﬂ

] =1.

=

kil Slope of the tangent at r = T
The slope of the normal at 4is 4
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1=

fﬂicat{] J
4 W2 V2 )L

Therefore, the equation of the normal to the given curve at

1 1

¥ —=1|I X =—

2o U )
= x=y

4

Find the equation of the tangent line to the curve y = x*> — 2x + 7 which is
(a) parallel to the line2x —y +9=0
(b) perpendicular to the line 5y — 15x = 13.

Answer

b=y
The equation of the given curve is? =% ~2¥+7

On differentiating with respect to x, we get:
ey
e =
(@) The equation of the lineis 2x — y + 9 = 0.
2X—-y+9=00y=2x+9

2x-2

This is of the form y = mx + c.

OSlope of the line = 2

If a tangent is parallel to the line 2x — y + 9 = 0, then the slope of the tangent is equal
to the slope of the line.

Therefore, we have:

2=2x-2
= 2x=4
= x=2
Now, x = 2

=y=4-4+7=7
Thus, the equation of the tangent passing through (2, 7) is given by,
y=T7=2(x-2)

= yp—2x-3=0
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Hence, the equation of the tangent line to the given curve (which is parallel to line 2x —

y+9=0)is¥ " 2¥=3=0
(b) The equation of the line is 5y — 15x = 13.
L, 13
V=3 +—
5y — 15x =130 3
This is of the form y = mx + c.
OSlope of the line = 3
If a tangent is perpendicular to the line 5y — 15x = 13, then the slope of the tangent is
-1 -1
slope of the line 3
-1

= 2x 2=T
e

= 2x=—+

(]

ed | L

= 2y =

5
——X=—
6

MNow,x =—
6

25 10 25-60+252 217
- +7= =

Y 3% 6 36 36

217

s ]
Thus, the equation of the tangent passing throughL 6 36 is given by,

217 I J
y———=——| Xx——
T 36 3 6

36y-217 -

:,u=_](m._5}
36 18

= 36y-217=-2(6x-5)

= 36v—-217T=-12x+10

= 36y+12x-227=10
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Hence, the equation of the tangent line to the given curve (which is perpendicular to line

5y — 15x = 13) i 36y +12x-227=0

Show that the tangents to the curve y = 7x> + 11 at the points where x = 2 and x = -2
are parallel.
Answer
The equation of the given curve is y = 7x° + 11.
dy

= =21x
x

al
‘{‘r [ .

s
The slope of the tangent to a curve at (xq, ¥o) is

Therefore, the slope of the tangent at the point where x = 2 is given by,
dy 2

i} =21(2) =84

de |, '

It is observed that the slopes of the tangents at the points where x = 2 and x = -2 are
equal.

Hence, the two tangents are parallel.

Find the points on the curve y = x° at which the slope of the tangent is equal to the y-
coordinate of the point.
Answer
The equation of the given curve is y = x°.

dy 2
E =3x

The slope of the tangent at the point (x, y) is given by,

ﬁ} =3’
dr | )

When the slope of the tangent is equal to the y-coordinate of the point, then y = 3x2.

Also, we have y = x°.
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03x% = x>

Ox*(x-3)=0

Ox=0,x=3

When x = 0, then y = 0 and when x = 3, then y = 3(3)? = 27.
Hence, the required points are (0, 0) and (3, 27).

For the curve y = 4x> — 2x°, find all the points at which the tangents passes through the
origin.

Answer

The equation of the given curve is y = 4x°> — 2x°.

& =12x" —10x"
ey

Therefore, the slope of the tangent at a point (x, y) is 12x*> — 10x*.
The equation of the tangent at (x, y) is given by,
V—y=(12x"-10x" )( X - x) (1)

When the tangent passes through the origin (0, 0), then X = Y = 0.
Therefore, equation (1) reduces to:

-y= {] 2x% - Iﬂx"]{—x}

y=12x" —10x°

3 5
Also, we have ' = 4x =2x.

21287 —10x° =457 =227
= 8y —8x' =0

=y -x =0

= .r"{.r:' —]}=ﬂ

= x=10, =1

When x = 0, y=4[l}}'—2(ﬂ} =10.

Whenx =1,y =4 (1)*-2(1)° = 2.
When x = =1,y = 4 (-1)° = 2 (-1)°> = -2.
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Hence, the required points are (0, 0), (1, 2), and (-1, —2).

Find the points on the curve x> + y* — 2x — 3 = 0 at which the tangents are parallel to
the x-axis.

Answer

The equation of the given curve is x> + y> — 2x — 3 = 0.

On differentiating with respect to x, we have:

dv
a2y 20
dx
Wy
= y—=Il-x

dx
dv 1-x
e v

Now, the tangents are parallel to the x-axis if the slope of the tangent is 0.
- X
—=0=l-x=0=x=1
¥
But, x> + y* = 2x — 3 =0 for x = 1.

—:"y2=4.|:|.1'l_-|-2

Hence, the points at which the tangents are parallel to the x-axis are (1, 2) and (1, —2).

Find the equation of the normal at the point (am?, am?) for the curve ay? = x°.
Answer
The equation of the given curve is ay* = x°.

On differentiating with respect to x, we have:
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)
1{1- [EP

s
The slope of a tangent to the curve at (xq, ¥o) is

= The slope of the tangent to the given curve at (am?, am?) is

d

m,} = 3(um3 }_ _ 3a’m'  3m
- - T 3 .

|:'-JI1?'I n'.l.ll';'] za(ﬂmﬁ} 2acm 2

O Slope of normal at (am?, am?)

! 2

slope of the tangent at (cmr’. um"] im

Hence, the equation of the normal at (am?, am?®) is given by,
-2 2t

—(x mu'}

y — am3 = 3m

= 3my —3am’ = -2x+ 2am’

= 2x + 3my am:{z t Bm:}= 0

Find the equation of the normals to the curve y = x> + 2x + 6 which are parallel to the

linex + 14y + 4 = 0.
Answer

The equation of the given curveis y = x> + 2x + 6.

The slope of the tangent to the given curve at any point (x, y) is given by,

dy

dx

=3x +2

O Slope of the normal to the given curve at any point (x, y)
-1
- Slope of the tangent at the point (x, v)
_
3x® 42

The equation of the given line is x + 14y + 4 = 0.
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1 4
L _'1. P
X+ 14y +4 =00 14 M‘(whichisoftheformy=mx+c)
-1

[OSlope of the given line = 14
If the normal is parallel to the line, then we must have the slope of the normal being

equal to the slope of the line.
-1 -1

“3¢+2 14
—=3x'+2=14
= 3x’ =12

= x' =4

=y =12

Whenx=2,y=8+4+ 6 = 18.
Whenx =-2,y=-8-4+6 = —-6.
!
Therefore, there are two normals to the given curve with slope 14 and passing through
the points (2, 18) and (-2, —6).
Thus, the equation of the normal through (2, 18) is given by,

-1
—18="(x-2
) 7 (x-2)

=14y -252=—x+2
= x+14y-254=10

And, the equation of the normal through (-2, —6) is given by,

y=(-6)=— [x~(-2)]

= yp+b=—/|x+2

y+6="1(x+2)
=14y +84=—x-2

= x+14y+86=10

Hence, the equations of the normals to the given curve (which are parallel to the given

line) are ¥+14y—=254=0andx+14y+86=0.
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Find the equations of the tangent and normal to the parabola y? = 4ax at the point (at?,
2at).

Answer

The equation of the given parabola is y? = 4ax.

On differentiating y* = 4ax with respect to x, we have:

2_1-'£—4(F
by
dv  2a
oy
o] 2l
[m"j, Zu.r}_ dx (ar®, 2a) 2at

OThe slope of the tangent at is

. (ufj, Zur}l_ .
Then, the equation of the tangent at is given by,
1 )
—(.r u.f")
y —2at =1
= ty—2at’ = x—at’

= ty=x+at’

i, 2ar) ..
Now, the slope of the normal at(” “ } is given by,
|

— =—f
Slope of the tangent at {ru“,-af}

Thus, the equation of the normal at (at?, 2at) is given as:
y-2at=—t(x-ar’)
= y—2at = —tx+at’

= y=—tx+2at +at’

Prove that the curves x = y? and xy = k cut at right angles if 8k*> = 1. [Hint: Two curves
intersect at right angle if the tangents to the curves at the point of intersection are
perpendicular to each other.]
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Answer
The equations of the given curves are given as™ =¥ andxy=k.
Putting x = y? in xy = k, we get:
1
V=k=>v=k*
v=k7
oz
k*, R-‘]
Thus, the point of intersection of the given curves is " !,
Differentiating x = y? with respect to x, we have:
dvdv 1
1= 2.1"—L = @___
de de 2y
21 £i| 1
AN S R
Therefore, the slope of the tangent to the curve x = y?at" ‘s '

On differentiating xy = k with respect to x, we have:

h dy -y
vt p=0= =
¥ dx X
o
K, k-‘]
O Slope of the tangent to the curve xy = kat" ‘is given by,
|
froy s n T T T2 T T
r.‘]‘l.‘{' |-.'.=..fr=.l x |t=.t=l ij ki
We know that two curves intersect at right angles if the tangents to the curves at the
(2 1
k3, kP
point of intersection i.e., at* 4 are perpendicular to each other.

This implies that we should have the product of the tangents as — 1.
Thus, the given two curves cut at right angles if the product of the slopes of their

fz o
k3, kR
respective tangents at * 7is —1.
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s

( 1 1
ie. : - =1
l\.qu \k.!

= 2k =1

::-fzki]:{l}‘

|
=8k =1

Hence, the given two curves cut at right angels if 8k* = 1.

¥ 7

X ¥
Find the equations of the tangent and normal to the hyperbola a’ *‘?‘: - at the
point{'x‘” Yo } .
Answer
oy

- =1

Differentiating®”  b°  with respect to x, we have:

2x 2ydy
a b dx
lydv 2x
b odv o
dv b'x
dx a’)
G{}»‘i| B bl_r,]
Yoo Vo) vl a'y,
Therefore, the slope of the tangent at{)'ﬂm 'h'}is Tl 4 Yo

Then, the equation of the tangent at{')rm Yo } is given by,
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— -}_.l = } ( T ‘1|'_| )
at Y
= ‘."2}'.]"” - 1’1 :”'u = 3,3_.(_.,:“ - hz'rrf

= bxx, —a’w,—b’x +a’yl =0

X, W (X W _ T A Tver 2R3

— F—b—:—[u—z—b—z]— 0 I:(}l'l l'.il"ﬂdlﬂh bﬂﬂ'l blde& b} a‘h :I
2 2

XX, M . x ¥

——=r—-1=10 Xoa Wy ! ——=—=1
- a b {T” h] ) a- b :|

XX, Wy, I

at b
Now, the slope of the normal at{ v 'L“}is given by,

—1 B —a'}-'u

Slope of the tangent at (x,, ¥, ) - bx,

)

Hence, the equation of the normal at{ o
-a’ Vy

—y, = ——x—x
Y—=¥y h‘x” { |;.]
Y=>» _ —(x-x)

a:-]'?lil llr‘-":‘xli-
}’_ Mo +{.\:—x,?} -0
o _}»(, bx,

is given by,

—,

Question 25:

y=a3x-2

Find the equation of the tangent to the curve
-2y+5=0.

which is parallel to the line 4x

Answer

The equation of the given curve is? = V3¥~2:

The slope of the tangent to the given curve at any point (x, y) is given by,
dy 3
dx 243r
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The equation of the given lineis 4x — 2y + 5 = 0.
.-P =2_‘r i

4x =2y +5=00

OOSlope of the line = 2

Now, the tangent to the given curve is parallel to the line 4x — 2y — 5 = 0 if the slope of

2 | Ln

(which is of the form ¥ = ¥ +¢)

the tangent is equal to the slope of the line.

5
2
24/3x-2

=4 3x-2=

=2

3
4
i
:b»S.r—E—i
16
9
_+2 ﬂ
16 16
41
—
48

. f I, T o -
thnx:u_}:: 3[41]_2: I'“”-z: [41-32 _ (9 _3
48 48 Y16 \" 16 16 4

-y

= AX

(41 3)

OEquation of the tangent passing through the point L43 4Jis given by,

3 41]
y——=2 x——
' 48

= 24y —18=48x-41
= 48x-24y =23

-7 =
Hence, the equation of the required tangent is‘m"' 24) 2?‘.

The slope of the normal to the curve y = 2x*> + 3 sin xat x = 0 is
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1
(A) 3 (B) 3 (C) -3 (D)

Answer

Tad | —

b= et L Tein v
The equation of the given curve is? = =* Isinx

Slope of the tangent to the given curve at x = 0 is given by,
dy

} =4x+3c05r] =0+3cos0=3
ur]: y=i} !

Hence, the slope of the normal to the given curve at x = 0 is
~1 -1
Slope of the tangent at x =0 3

The correct answer is D.

The line y = x + 1 is a tangent to the curve y? = 4x at the point
(A) (1, 2) (B) (2,1) (C) (1, =2) (D) (-1, 2)
Answer

The equation of the given curve is? — 4x

Differentiating with respect to x, we have:

2y d—‘ =4 = d—L = E
Ty de
Therefore, the slope of the tangent to the given curve at any point (x, y) is given by,
dv 2
dcy

The given line is y = x + 1 (which is of the form y = mx + ¢)

[0 Slope of the line = 1

The line y = x + 1 is a tangent to the given curve if the slope of the line is equal to the
slope of the tangent. Also, the line must intersect the curve.

Thus, we must have:
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2
= =1
W

= y=2
Now,y=x+l=x=y-l=x=2-1=1

Hence, the line y = x + 1 is a tangent to the given curve at the point (1, 2).

The correct answer is A.
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1. Using differentials, find the approximate value of each of the following up to 3 places

of decimal

(y V253 iy V495 iy V0.6

(0.009) - (0.999)0 - (15);

(iv) (v)

ity (260 ity (235)° 1y (82)°

) (401)2 (i) (0.0037): (i) (26.57):
ity (B15)* iy (3-968)2 s (3215

Answer

(iy V253

Consider” =x . Let x = 25 and Ax = 0.3.
Then,

Ay =~Jx+Av —/x =253 -25 =253 -5
=253 =Ay+5

Now, dy is approximately equal to Ay and is given by,

), ] e
dy \E]M 2‘],;{[},3] {as;- wr:]
1

=ﬁ{u.3} =0.03

; /253
Hence, the approximate value of ¥<---is 0.03 + 5 = 5.03.

(iiy V49.5

Consider” =x . Let x = 49 and Ax = 0.5.
Then,
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Ay =Jx+ Ax —Jx =495 - 49 = J195 -7
— 495 =7+ Ap

Now, dy is approximately equal to Ay and is given by,

[ dy 1
A PP =
d) _L I]i‘uc e (0.5) [as;. ﬁ]
1 1
=—=(0.5)=—(0.5)=0.035
75 (09)=1509)
Hence, the approximate value of V49.5is 7 + 0.035 = 7.035.
Consider z“"{;. Let x = 1 and Ax = — 0.4.

Then,

Ay =x+ A —x = 0.6 -1

= V0.6 =1+ Ay

Now, dy is approximately equal to Ay and is given by,

dy |{d—1] Ax ].' (Ax) [asy «.ﬁ]
\ dlx 2Jx

1

2

(-0.4)=-0.2

Hence, the approximate value of V0-0is 1 4 (-0.2) =1-0.2=0.8.

(ivy (0-009):

Consider” =% Let x = 0.008 and Ax = 0.001.
Then,
| 1 | 1 |
Ay =(x+Ax) —(x): =(0.009)5 —(0.008)5 =(0.009): ~0.2
|
= (0.009): =0.2+ Ay

Now, dy is approximately equal to Ay and is given by,
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B I
dy = d_L Ax = I —(Ax) asy=x’
el ) 3[.1: - L

0.001
0.12

=0.008

(0.001) =
~ 3x0.04

0093
Hence, the approximate value of{u 0o } is 0.2 + 0.008 = 0.208.

9990
vy (0999)

i V= {.T}”
Consider . Let x =1 and Ax = —0.001.
Then,

1 1

Ay = (x+ Ax)o —(x )0 =(0.999)i0 1

= {[}.'}'}'}}'“ =1+ Ay
Now, dy is approximately equal to Ay and is given by,
|
a=(2 )M L (ax) s =(2)7]
L0
= LU{—I’}.D(}I] =—(.0001

9099 o
Hence, the approximate value 01‘{u } is1 + (—0.0001) = 0.9999.

iy (13

xt

Consider? =% . Let x = 16 and Ax = —1.

Then,
1 ! [ | [
Ay =(x+Ar): —x' =(15) —(16)+ =(15) -2
|
= (15)+ =2+ Ay

Now, dy is approximately equal to Ay and is given by,
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[ 1 B i
C-IT]I":| d_l Ar = - [-*u] asy= x*
kdx; 4[1]_‘ L
: ~(-1) L "—,: ~0.03125
4{]5)'1 fl:-CB 3_

|
Hence, the approximate value of“j} is 2 + (—0.03125) = 1.96875.

|
ity (26)°
|
Consider” ~ (x) . Let x = 27 and Ax = —1.
Then,

1 1

Ay =(x+ Ax)s — (x): =(26): —(27): =(26): -3

|
=(26): =3+ Ay
Now, dy is approximately equal to Ay and is given by,
.:\ [ |
<[ 2 e = (a0 asy= (o) |
dy 3(x): _
— L _(-1)==L=0.0370
3(27) !

O E
Hence, the approximate value of{'ﬁ) is 3 + (—0.0370) = 2.9629.

iy (233)°

1
Consider” ~ (x): . Let x = 256 and Ax = —1.
Then,
Ay = (x4 Ax)i —(x)i =(255)i ~(256)1 = (255)1 ~4
= (255) =4+ Ay

Now, dy is approximately equal to Ay and is given by,
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A I
aﬁr:| ur_l ..‘L‘t‘: I [”\x] HSJ:: x'*

'kdx)'l 4[1—]4 L

(-1) “__ 00039

JE

2 4
Hence, the approximate value of{ 55} is 4 + (—0.0039) = 3.9961.
1
(ixy (82)°
|

-4
Y7 Let x = 81 and Ax = 1.

Consider? =
Then,

1 1 1 1 1
Ay = (v Ax)i ~(x)F = (82)¢ ~(81)¢ = (82)+ -3
1
= (82)¢ = Ay +3
Now, dy is approximately equal to Ay and is given by,

A | 1
—(Ax) asy = x*
NS g () L

(1) g =0.009

4
Hence, the approximate value ofuﬂ} is 3 + 0.009 = 3.0009.

(x) (401):

|
Consider? =% . Let x = 400 and Ax = 1.
Then,

Ay =x + Ax —Jx = V401 - /400 = 401 -20
= 401 =20+ Ay
Now, dy is approximately equal to Ay and is given by,
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dy 1 .
dy=| — |Ax = Ax asy=ux?
p [dx) () {M r]

1 1
= =—=0.025
Exiﬂ{} 40 ’

; 401 ;
Hence, the approximate value of ¥ is 20 + 0.025 = 20.025.

iy (0-0037):

Consider? =%, Let x = 0.0036 and Ax = 0.0001.
Then,

.e:us:(mmﬁ {x];:(ﬂ.ﬂ{'ﬁ?}; {U.U{Bﬁ:lll=(ﬂ.ﬂ{}3?}; 0.06

1
= (0.0037)2 = 0.06+ Ay

Now, dy is approximately equal to Ay and is given by,

£y [

I:.‘_'}’:| @ Ax= l,_ (Ax) asy=ux?
'\.d:xfl EWJII.T

1

T 2%0.06

_ 00001 _ 4, 50083
0.12

(0.0001)

(0.0037):

Thus, the approximate value of is 0.06 + 0.00083 = 0.06083.

iy (2657)°

4 — e}
Consider? =% . Let x = 27 and Ax = —0.43.
Then,

]

Ay = (x4 Ax): —x* =(26.57): —(27)F =(26.57): 3

|
=(26.57): =3+ Ay

Now, dy is approximately equal to Ay and is given by,
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| 1
dv = Gﬁ' Ax = : ~(Ax) asy=ux’
\ax 3{::];
1
= (.43
3(9}{ )
=2 = _0.015
2

26.57 )
Hence, the approximate value of{ 6.5 ] is 3 + (—0.015) = 2.984.

ity (1)

xt

Consider? =% . Let x = 81 and Ax = 0.5.

Then,
Ay =(x+Ax)i —(x)1 =(81.5)1 —(81)1 =(81.5)1 -
:u{EI.:?}I4 =3+Ay

Now, dy is approximately equal to Ay and is given by,

(dy I :
dy =| = |Ax ~(Ax) asy = x*
'\.d'j‘ 4 4[_1[-]4 L
1 (0.5) 0.3 0.0046
3} 108

1

D)4
Hence, the approximate value of{m } is 3 + 0.0046 = 3.0046.

o) (3. uas

Consider? =" . Let x = 4 and Ax = — 0.032.
Then,

-‘ k

Ay = (x+Ax): —x* =(3.968): —(4): =(3.968) -8

= {3.%3]: =8+Ay
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Now, dy is approximately equal to Ay and is given by,

P 1 [ ?
dy = dy m—:i(x}.' [;u] asy=x*
\dx ) 2

3 "
=(2)(-0.032)
- —0.096

3
Hence, the approximate value of[l%ﬁ}: is 8 + (—0.096) = 7.904.
1
(xv) (32.15)s
|
Consider” =¥ . Let x = 32 and Ax = 0.15.
Then,

1 | | |

Ay =(x+Ax)s —x° =(32.15)s - (32)° =(32.15) -2
= (32.15)s =2+ Ay

Now, dy is approximately equal to Ay and is given by,

A ' !
dy = & Ay = ! —(Ax) asy=x°
Ly ) S{x}f L
=— J(LH )
Sx
=&_0Dﬂ18?
80

32.15)5
Hence, the approximate value of[ 2.1 } is 2 + 0.00187 = 2.00187.

Find the approximate value of f (2.01), where f (x) = 4x* + 5x + 2
Answer

Let x = 2 and Ax = 0.01. Then, we have:

f(2.01) = f(x + Ax) = 4(x + Ax)*> + 5(x + Ax) + 2

Now, Ay = f(x + Ax) — f(x)
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O f(x + Ax) = f(x) + Ay

S (x)+ 1 (x)- A (as dx = Ax)
= f(2.01)= (4x° +Jx+2} (8x+5)Ax
=[4(2) +5(2)+2]+[8(2)+5](0.01) [asx=2 Ax=001]
=(164+10+2)+(16+5)(0.01)
=28+(21)(0.01)
=28+0.21
=2821

Hence, the approximate value of £ (2.01) is 28.21.

Question 3:
Find the approximate value of f (5.001), where f (x) = x> — 7x*> + 15.

Answer
Let x = 5 and Ax = 0.001. Then, we have:

F(5.001) = f(x+Ax)=(x+Ax) =7(x+Ax) +15
Now, Ay = f{x+Ax)- f(x)
Sk Ax) = f (x)+ Ay
= f{x)+ f"(x) Ax (as dx = Ax)
= [(5.001) = (&' = 72" +15)+(3x" —14x) Ax
=[(s)"-7(5)" +15]+[3(5) ~14(5) ] (0.001) [x=5,Ax=0.001]
=(125-175+15)+(75-70)(0.001)
=-35+(5)(0.001)
= —35+0.005

=—34 995
Hence, the approximate value of f (5.001) is —34.995.

Question 4:
Find the approximate change in the volume V of a cube of side x metres caused by

increasing side by 1%.
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Answer
The volume of a cube (V) of side x is given by V = x°.
()
v )
= {3.rj].-ﬂr
=(3x")(0.01x) [as 1% of x is 0.01x]
=0.03x"

Hence, the approximate change in the volume of the cube is 0.03x> m>.

Find the approximate change in the surface area of a cube of side x metres caused by
decreasing the side by 1%
Answer

The surface area of a cube (S) of side x is given by S = 6x°.

dS _(dS
=(12x) Ax
= (12x)(0.01x) [as 1% of x is 0.01x]
=0.12x"

Hence, the approximate change in the surface area of the cube is 0.12x%> m?.

If the radius of a sphere is measured as 7 m with an error of 0.02m, then find the
approximate error in calculating its volume.

Answer

Let r be the radius of the sphere and Ar be the error in measuring the radius.
Then,

r=7mandAr=0.02m

Now, the volume V of the sphere is given by,
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.
V=—nr

3
ﬂ = 4qp’
dr
dV =| ﬁ]m-
\dr
={4m‘:]$r

=4n(T) {ﬂ.ﬂ?] m'=392gm’

Hence, the approximate error in calculating the volume is 3.92 n m?>.

If the radius of a sphere is measured as 9 m with an error of 0.03 m, then find the
approximate error in calculating in surface area.
Answer
Let r be the radius of the sphere and Ar be the error in measuring the radius.
Then,
r=9mand Ar=0.03m
Now, the surface area of the sphere (S) is given by,
S =4nr?
ds

S — =R
dr

[dS)

dr )
=(8mr)Ar

=8mn(9)(0.03) m”
2.16m m*

Hence, the approximate error in calculating the surface area is 2.16n m?.

L ds Ar

If f (x) = 3x* + 15x + 5, then the approximate value of f (3.02) is
A. 47.66 B. 57.66 C. 67.66 D. 77.66

Answer
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Let x = 3 and Ax = 0.02. Then, we have:
S(3.02) = f(x+Ax)=3(x+Ax)" +15(x + Ax)+5
Now, Av= f(x+Ax)— f(x)
= f(x+Ax)= f(x)+Av
= f(x)+ f(x)Ax (As dx = Ax)
= f(3.02) = (3x* +15x+5) +(6x+15) Ax
=[303)" +15(3)+5]+[6(3)+15](0.02) [Asx=3, Ax=002]
=(27+45+5)+(18+15)(0.02)
= 77+(33)(0.02)
=77+0.66
=77.66
Hence, the approximate value of f(3.02) is 77.66.

The correct answer is D.

The approximate change in the volume of a cube of side x metres caused by increasing
the side by 3% is
A. 0.06 x> m®> B. 0.6 x> m*> C. 0.09 x> m*> D. 0.9 x*> m?
Answer
The volume of a cube (V) of side x is given by V = x°.
(L)
= (3x7 ) Ax
=(3x7)(0.03x) [As 3% of x is 0.03x]
=0.09x" m’

Hence, the approximate change in the volume of the cube is 0.09x> m>.

sdv

The correct answer is C.
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Find the maximum and minimum values, if any, of the following functions given by
(i) fiix) = (2x — 1)? + 3 (i) A(x) = 9x* + 12x + 2

(iii) f(x) = —(x — 1)> + 10 (iv) g(x) = x> + 1

Answer

(i) The given function is f(x) = (2x — 1) + 3.

It can be observed that (2x — 1)? = 0 for every x O R.

Therefore, f(x) = (2x — 1)*> + 3 > 3 for every x (0 R.

The minimum value of fis attained when 2x — 1 = 0.

-\I_"
-q—3

|
OMinimum value of f = Y AN =3

.-'-l\. 4

7.

Hence, function f does not have a maximum value.
(ii) The given function is f(x) = 9x* + 12x + 2 = (3x + 2)*> — 2.
It can be observed that (3x + 2)? = 0 for every x O R.
Therefore, f(x) = (3x + 2)> — 2 = -2 for every x (I R.
The minimum value of fis attained when 3x + 2 = 0.
2

r=—

3x+2=00 3

. A :
=(3[T' |+21 2=
LR

OMinimum value of f= -~ -/ 4

Hence, function f does not have a maximum value.

(iii) The given function is f(x) = — (x — 1)> + 10.

It can be observed that (x — 1) > 0 for every x (I R.
Therefore, f(x) = — (x — 1)®> + 10 < 10 for every x (0 R.
The maximum value of fis attained when (x — 1) = 0.
x-1)=00x=0

OMaximum value of f = (1) = — (1 — 1)> + 10 = 10
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Hence, function f does not have a minimum value.
(iv) The given function is g(x) = x> + 1.

Hence, function g neither has a maximum value nor a minimum value.

Find the maximum and minimum values, if any, of the following functions given by
MFxX)=Ix+2-1(@()gx)=—-|x+1|+3

(iii) h(x) = sin(2x) + 5 (iv) f(x) = [sin 4x + 3|

(V)Yh(x) =x+4,x= (-1, 1)

Answer
. x+2|-1

(i) f(x) = |
2=

We know that 't+'| - IUfor every x O R.
e+2[-1z-1

Therefore, f(x) = for every x OO0 R.

. . . ,t+2| =1

The minimum value of f is attained when .

x4+ 2| =10

= x=-2

=217 1==
COMinimum value of f = f(—2) = | 2+'| | ]

Hence, function f does not have a maximum value.

(i) g =111+

,r+1|‘i'ﬂ

We know that ~ forevery x OO R.

Therefore, g(x) = B '¥+l|_353for every x [ R.
The maximum value of g is attained when 't_1| - ﬂ.
x+1[=0
= x=-1

—-1+1|+3=3

OMaximum value of g = g(—1) =

Hence, function g does not have a minimum value.
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(iii) h(x) = sin2x + 5
We know that — 1 < sin 2x < 1.
O-14+5<sin2x+5<1+5
O4<sin2x+5<6

Hence, the maximum and minimum values of h are 6 and 4 respectively.

(iv) F(x) = sindx+3

We know that —1 < sin 4x < 1.
O2<sind4x +3<4

0o < sindx+3

<4
Hence, the maximum and minimum values of f are 4 and 2 respectively.
WM hx)=x+1,x0(-1,1)

Do ex, +1
1
Here, if a point x; is closest to —1, then we find 2 for all xo O (-1, 1).
x +1
A
Also, if x; is closest to 1, then 2 for all x, O (-1, 1).

Hence, function A(x) has neither maximum nor minimum value in (-1, 1).

Find the local maxima and local minima, if any, of the following functions. Find also the
local maximum and the local minimum values, as the case may be:
(). A(x) = x* (ii). g(x) = x> — 3x
T
<=
(iii). h(x) = sinx + cos, 0 < 2 (iv). f(x) = sinx — cos x, 0 < x < 2n
(V). f(x) = x> — 6x>+ 9x + 15

g(x)==+=,x>0

vi).

- | b

| =

)=

|g - s
(vii). 3 X+ 2
(viii). S(x)=x1-x,x>0

Answer
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(i) f(x) = x*

s (x)=2x
Now,
f(x)=0=x=0

Thus, x = 0 is the only critical point which could possibly be the point of local maxima or

local minima of f.
f(0)=
Therefore, by second derivative test, x = 0 is a point of local minima and local minimum
value of fat x = 0 is f(0) = 0.
(i) g(x) = x> — 3x

g'(x)=3x"-3

Now,

We have , which is positive.

g'(x)=0=3x" =3= x ==l
} ihs

g'(x
(1)=6
(-

o

g' }——EH’{J

By second derivative test, x = 1 is a point of local minima and local minimum value of g

atx=1isg(1) =13>-3 =1 -3 = -2. However,

x = —1 is a point of local maxima and local maximum value of g at

x=-1isg(1)=(-1*-3(-1)=-1+3=2.
n

(iii) h(x) = sinx + cosx, 0 < x < 2

h'(x) = cosx—sin x
h’{x]=l):>sin.r=cnsx:>tanle:»xz_E;[u =
4 0 2)

h”{.\'} = —5iNX—CosXx = —{sin xX+cos .\'}

[ { A 5
| l 1 2
Wl === —=+—=|=——F%=—2 <0
— [ =
4 ) a2 A2 42
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x=
Therefore, by second derivative test,

=|A

is a point of local maxima and the local

- s . W T
=—  hl—|=sin—+cos—= =42,
v= b )=sinfrcos’ 2

] ]
_+_
maximum value of h at 4is “'E "@
(iv) f(x) =sinx —cos x, 0 < x < 2n

f'(x}:ccrsx+sin:r
S'(x)=0= cosx=—sinx= tan r——l:;»x—?ZTTIE (0.27)

f"(x)=-sinx+cosx

(%)
%)

n 1
—sm—+cos— ————=—~.-'{_:»l}

4 2 V2

n
—sm—+cos— —=

4

|
50

In
r=—
Therefore, by second derivative test, 4 isa point of local maxima and the local
In
X=—
maximum value of f at 4 s
In n in 1 1
f[—]—sm——cos———},—+—=v'q ; _In
4 4 V2 2 However, 4 isa point of local minima and
Tn T T 1 1 =
x= In f[—} =5in——cos— = ———F= -v2
the local minimum value of f at 4is 4 4 4 \"E <

(v) (ix) = x> — 6x> + 9x + 15
S f(x)=3x"—12x+9
f(x)=0 =3(x —4x+3)=0
= 3(x—1)(x-3)=0
—x=13

Now, f"
(x)=6x-12=6(x-2)
(1)=6(1-2)=-6<0
£'(3)=6(3-2)=6>0
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Therefore, by second derivative test, x = 1 is a point of local maxima and the local
maximum value of fat x = 1isf(1) =1 -6 + 9 + 15 = 19. However, x = 3 is a point of
local minima and the local minimum value of fat x = 3is f(3) =27 — 54 + 27 + 15 =
15.

x 2
g(x)==+=,x>0
(vi) 2 x
. 1 2
glx)l=-——=
(¥)=5-
Now,

. : | 2
g(x}:ﬂgwes. 1:?_>.r‘:4_>x:i2
X

Since x > 0, we take x = 2.

Now,

o 4
g {-‘f]‘:—-,
X
. 4 1
2"(2)= 73 >0
Therefore, by second derivative test, x = 2 is a point of local minima and the local

=1+1=2,

b | b
| b

minimum value of gat x = 2 is g(2) =

1
E\X]=—
(vii) 2| ) x°+2

g2,
{.\"+2J
g(x)=0=- :EI -=0=>x=0
[,\:'+2}

x)=0

Now, for values close to x = 0 and to the left of O, £ { "~ " Also, for values close to x =

r ] {
0 and to the right of O,'gr H} {“].
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Therefore, by first derivative test, x = 0 is a point of local maxima and the local
.1 1
g(0)is——=—.
maximum value of 0+2 2

(vii) S(x)=x1-x, x>0

N x)=Al-x 4 x- ; A)=Jl—x-—2
() =A1-x 2m( )=/

C2(1-x)-x  2-3x
24Jl—x 2yl—x
= 3x

o2
f {.‘c]—ﬂ::»zm

o]
|
-

-
=D:>2—3x:ﬁ:>x=§

4[]—3.]’
. Jx-4
4(1-x)2
2
3[ ]—4
2 a7 _
:‘"[']— 3 -=— i 1)*:13
3

Therefore, by second derivative test,
2
X==

maximum value of f at 3is

is a point of local maxima and the local
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Wi 9

N 2 28
3

f2y 2/ 2 2
135334

Prove that the following functions do not have maxima or minima:
(i) f(x) = €* (ii) g(x) = logx

(i) h(x) = X° + x> + x + 1

Answer

i. We have,

fix) = e"

S f(x)=e

JS'(x)=0, thene" =0

Now, if . But, the exponential function can never assume 0 for any

value of x.

f'(c)=0.

Therefore, there does not exist c[d R such that*
Hence, function f does not have maxima or minima.

ii. We have,

g(x) = log x

. 1
LEx)=—
(x)=~
Sincelog x is defined for a positive number x, g'(x) =0 for any x.

Therefore, there does not exist c[1 R such that gr{{,} - U,
Hence, function g does not have maxima or minima.

iii. We have,

h(x)=x+x*+x+ 1

SR () =307+ 20+

Now,

=1
T
ra

Lu.l

[

H-
=2
fad

Xr=
h(x)=003x*+2x+1=00
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Therefore, there does not exist c[d R such that h {{} - U.

Hence, function h does not have maxima or minima.

Find the absolute maximum value and the absolute minimum value of the following
functions in the given intervals:

f(x)=x"xe[-2,2]

f(x)=sinx+cosx,xe [U.T[ ]

(i) (i)
. 1 . [ .9
Sx)=dx——x",xe —2,—}
(iii) 2 L2
(V) _f'l{.t}={.‘r—1}:+3,.rf:[—3.|]
Answer

(i) The given function is f(x) = x°.
_f'{.\'}:lr:

Now,

fx)=0 = x=0

Then, we evaluate the value of f at critical point x = 0 and at end points of the interval

[-2, 2].
f0) =0

A-2) = (=2)° = -8
f2) = (2)°=8

Hence, we can conclude that the absolute maximum value of fon [-2, 2] is 8 occurring
at x = 2. Also, the absolute minimum value of fon [-2, 2] is —8 occurring at x = —2.
(ii) The given function is f(x) = sin x + cos x.

" _,1‘"(_1'} =COSY—Sinx

MNow,

. ) T
f(x)=0 = sinx=cosx=tanx=l=x= n

xX=
Then, we evaluate the value of f at critical point

3

and at the end points of the

interval [0, n].
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b

f-[n —sinTrcos T4
' 4J 4 4 2 2
.f'[ﬂ}zsin[chaﬂ:UH:I

iy )

R

f(m)=sinm+cosm=0-1=~1

Hence, we can conclude that the absolute maximum value of fon [0, n] is“-IIE occurring

T
r=—
at 4 and the absolute minimum value of f on [0, n]is —1 occurring at x = n.

fx)=4x- lxz.
(iii) The given function is 2

f(x)=4-2(2x)=4-x

Now,
f(x)=0 = x=4

Then, we evaluate the value of f at critical point x = 4 and at the end points of the

i
{_2‘ i}
. )
interval =,

£(4)=16-2(16)=16-8=8
,}"(—2]:—8—%[’4]:_3_2 =10

9y (9 9%
;t_ 4 —}—l[—J 18-S _18-10.125-7.875

2) \2) 2(2 8
9

B }
5
Hence, we can conclude that the absolute maximum value of fon[ “=-is 8 occurring
g
2

B }
at x = 4 and the absolute minimum value of f on [ is =10 occurring at x = 2.

f(x)=(x—1)+3.

(iv) The given function is-
(X)) =2(x-1)

Now,



Class XII Chapter 6 - Applic;tion of Derivatives Maths

_f"{,r}=U_>2(X_ 1)=00x=1

Then, we evaluate the value of f at critical point x = 1 and at the end points of the
interval [-3, 1].

F()=(1-1) +3=0+3=3

F(-3)=(-3-1)"+3=16+3=19

Hence, we can conclude that the absolute maximum value of fon [—-3, 1] is 19 occurring

at x = =3 and the minimum value of fon [-3, 1] is 3 occurring at x = 1.

Find the maximum profit that a company can make, if the profit function is given by
p(x) = 41 — 24x — 18x?

Answer

The profit function is given as p(x) = 41 — 24x — 18x°.

sop'(x)=-24-36x

p'(x)=-36
Now,
-24 2
i (x)=0 = x=—=-=
P'(x) - 3
Also
i =3 i
"l — 6 <10
”"3)
2
===
By second derivative test, 3is the point of local maxima of p.
LR
. Maximum profit = p [ ;
2 \:
=4]1-24 —EW
3 A \ J A
=41+16-8

=40

Hence, the maximum profit that the company can make is 49 units.
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F(x)=x + 5,020
X

Find the intervals in which the function f given by is
(i) increasing (ii) decreasing
Answer
. : 1
X)=x"+—
f) =+
y , 3 3x"-3
x)=3x"——=
7 x! x
Then, f(x)=0=3x"-3=0=x"=1=x=1%]
Now, the points x = 1 and x = —1 divide the real line into three disjoint intervals

(—e0,—1),(=1,1), and (1,%0).

i.e.,

(~o0,~1) and (1,=) f'(x)>0.

In intervals i.e., whenx< —-1landx>1," *

Thus, when x < —1 and x > 1, fis increasing.

f'(x)<0.

Ininterval (-1, 1)i.e.,, when -1 <x <1, © *

Thus, when —1 < x < 1, fis decreasing.

At what points in the interval [0, 2n], does the function sin 2x attain its maximum value?
Answer

Let f(x) = sin 2x.

.'.f'{x}: 2eos2x

A T 3t 5Sn U=
=% x=—, —, —, —
2 2 2 2
T 3 5m Tn
:)x:_s T T s T
4 4 4 4
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x=
Then, we evaluate the values of f at critical points

3 5 Tn
44 4 and at the end

B|H

points of the interval [0, 2n].

. : 3 .3
¥ [£]=SLHE:LI(—K]=sm—“=—I
4 2 L4 2

L i

Sm . om Tn . In
_f[f—]=sm?= |._f[T]=SIn?=—|

S(0)=sin0=0, f(2x)=sin2x =0
Hence, we can conclude that the absolute maximum value of fon [0, 2n] is occurring
T Sm

r=—

X=— ]
at  4and 4

What is the maximum value of the function sin x + cos x?
Answer

Let f(x) = sin x + cos x.

s ('r) =COsSY—sinx

' : T 5m
--fi{x,I':n = -‘HH.‘C'='::L‘;5;JJ_>ta1|'uc=]_:~Jl-=1 .

4

_f"[x] =—sinx—cosx= —[sin X+ Cos J."]
f(x)
are both positive. Also, we know that sin x and cos x both are positive in the first

H

A

Now will be negative when (sin x + cos x) is positive i.e., when sin x and cos x

xt—:[[}
will be negative when

1 x)

quadrant. Then,

Xr=
Thus, we consider

_f"‘(i]:—(sini%—n:uﬁ:W:—[ 2 ]:—ﬁ'ﬂﬂ

=3

\ \ \JE,
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T
X==

OBy second derivative test, f will be the maximum at 4 and the maximum value of f

=2

Find the maximum value of 2x®> — 24x + 107 in the interval [1, 3]. Find the maximum
value of the same function in [-3, —1].

Answer

Let f(x) = 2x°> — 24x + 107.

L f(x)=6x"-24=6(x" - 4)
Now,
S(x)=0 :}6{1'1 —4:] 0= =4=x=42

We first consider the interval [1, 3].

Then, we evaluate the value of f at the critical point x = 2 [0 [1, 3] and at the end points
of the interval [1, 3].

f(2) = 2(8) — 24(2) + 107 =16 — 48 + 107 = 75

f(1) = 2(1) — 24(1) + 107 = 2 — 24 + 107 = 85

f(3) = 2(27) — 24(3) + 107 =54 - 72 + 107 = 89

Hence, the absolute maximum value of f(x) in the interval [1, 3] is 89 occurring at x =
3.

Next, we consider the interval [-3, —1].

Evaluate the value of f at the critical point x = —2 O [-3, —1] and at the end points of
the interval [1, 3].

f(—=3) = 2 (=27) — 24(=3) + 107 = =54 + 72 + 107 = 125

f(-1)=2(-1) - 24 (-1)+ 107 = -2 + 24 + 107 = 129

f(-2) =2(-8) — 24 (-2)+ 107 = -16 + 48 + 107 = 139

Hence, the absolute maximum value of f(x) in the interval [-3, —1] is 139 occurring at x
= -2,
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It is given that at x = 1, the function x*— 62x*> + ax + 9 attains its maximum value, on
the interval [0, 2]. Find the value of a.

Answer

Let f(x) = x* — 62x*> + ax + 9.

S f(x)=4x" —124x +a

It is given that function f attains its maximum value on the interval [0, 2] at x = 1.

.'._f"{]}:l.’}
=d-124d+a=10
== a=120

Hence, the value of a is 120.

Find the maximum and minimum values of x + sin 2x on [0, 2n].
Answer

Let f(x) = x + sin 2x.

S (x)=1+2cos2x
. | m \ I
Now, f'(x)=0=cos2x=-—=-cos—=cos| 1-— |= cos —
2 3 3 3
"
2n
2y=2m +— nelk
3
n
:>,"|‘=J?'.II+;, nel
n 2n 4n Sm
=x=—,—,—.—¢[0.21]
3 3 3 3
n 2n 4w Sn
X =y vy
Then, we evaluate the value of f at critical points 3 3 3 3 and atthe end points

of the interval [0, 2n].
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Jf' E|:E+Sinz_n:£+£

3 3 3 3 2

(2 2 in 21 3
¥ _“J:_I,m-n“:_tﬁ

L3 3 3 2
AT O SO
L33 i 3 2
(52 5 . 10n 5n 3
I _|:_+”1“T_ -

fl2a)=2n+sindn =2n+0=2n
Hence, we can conclude that the absolute maximum value of f(x) in the interval [0, 2n]

is 2n occurring at x = 2n and the absolute minimum value of f(x) in the interval [0, 2n]

is 0 occurring at x = 0.

Find two numbers whose sum is 24 and whose product is as large as possible.
Answer
Let one number be x. Then, the other number is (24 — x).

Let P(x) denote the product of the two numbers. Thus, we have:

P(x)=x(24-x)=24x—x

LP(x)=24-2x
P'(x)=-2

Now,

P'(x)=0 = x=12
Also,
P'(12)=-2<0

OBy second derivative test, x = 12 is the point of local maxima of P. Hence, the product

of the numbers is the maximum when the numbers are 12 and 24 — 12 = 12.

Find two positive numbers x and y such that x + y = 60 and xy°® is maximum.
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Answer

The two numbers are x and y such that x + y = 60.

Oy=60-x

Let f(x) = xy*>

= f(x)=x(60-x)

()= (60-x) =3x(60-x)°

=(60-x)"[60 - x-3x]
=(60-x) (60 4x)

And*f"{x}— 2(60-x)(60 - 4x)-4(60-x)’
~2(60—x)[ 60—4x+2(60-x)]
~2(60—x)(180— 6x)

=—12(60-x)(30-x)

Now, f'(x)=0 = x=60orx=15

When x =60, f"(x)=

When x =15, f"(x) = ~12(60—15) (30~ 15) = ~12x45x15 < 0.

OBy second derivative test, x = 15 is a point of local maxima of f. Thus, function xy> is

maximum when x = 15 and y = 60 — 15 = 45,

Hence, the required numbers are 15 and 45.

Find two positive numbers x and y such that their sum is 35 and the product x%y° is a

maximum
Answer
Let one number be x. Then, the other number is y = (35 — x).

Let P(x) = x?y°. Then, we have:
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4

And, P’ (x) =7(35-x)" (10-x) + 7x| ~(35-) ~4(35-x) (10-x) |
=7(35-x)" (10-x)~7x(35-x)' ~28x(35-x) (10— x)

(: (
=7(35-%)"[(35- %) (10~ x)~x(35-x) - 4x(10-x)|
=7(35-x)"[350-45x+x" —35x +x" —40x + 45" |
=7(35-x)"(6x" —120x+350)

ot —
Now,P'(x)=0 = _ 0, x =35 x =10
When x = 35,“Pr (x)=r(x)=0 and y = 35 — 35 = 0. This will make the product x* y°
equal to 0.
When x = 0, y = 35 — 0 = 35 and the product x?y? will be 0.
O x = 0 and x = 35 cannot be the possible values of x.

When x = 10, we have:
P"(x)=7(35-10)" (6x100-120x10+350)
=7(25)" (-250) <0
O By second derivative test, P(x) will be the maximum when x = 10 and y = 35 — 10 =

25.

Hence, the required numbers are 10 and 25.

Find two positive numbers whose sum is 16 and the sum of whose cubes is minimum.
Answer
Let one number be x. Then, the other number is (16 — x).

Let the sum of the cubes of these numbers be denoted by S(x). Then,
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S(x)=x"+(16-x)’

58 (x)=3x" =3(16-x)", §"(x)=6x+6(16-x)
Now, S'(¥)=0 = 3x" =3(16-x) =0

=" —(16-x) =0

=y =256-x" +32x=0

-
_>.‘L‘=£=3

32
Now, S"{E]=6{Ej+6{16—3}:4E+4E:U|5:=-{J

O By second derivative test, x = 8 is the point of local minima of S.
Hence, the sum of the cubes of the numbers is the minimum when the numbers are 8

and 16 — 8 = 8.

A square piece of tin of side 18 cm is to made into a box without top, by cutting a square
from each corner and folding up the flaps to form the box. What should be the side of
the square to be cut off so that the volume of the box is the maximum possible?

Answer

Let the side of the square to be cut off be x cm. Then, the length and the breadth of the
box will be (18 — 2x) cm each and the height of the box is x cm.

Therefore, the volume V(x) of the box is given by,

V(x) = x(18 — 2x)?
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V'(x)=(18-2x)" —4x(18 - 2x)

={IR—21}[1E—2.\'—4J(]

:{13—21}(13—133:)

And, V"(x)=12[-(9-x)-(3-x) |
=—12(9-x+3-x)
=—12{12-2x)
=-24(6-x)

Now, F'(x)=0 = e 9orxe3

If x = 9, then the length and the breadth will become 0.
SoxX # 9.

= x = 3.

Now, V"(3)=-24(6-3)=-72<0

. By second derivative test, x = 3 is the point of maxima of V.

Hence, if we remove a square of side 3 cm from each corner of the square tin and make

a box from the remaining sheet, then the volume of the box obtained is the largest

possible.

A rectangular sheet of tin 45 cm by 24 cm is to be made into a box without top, by

cutting off square from each corner and folding up the flaps. What should be the side of

the square to be cut off so that the volume of the box is the maximum possible?

Answer

Let the side of the square to be cut off be x cm. Then, the height of the box is x, the

length is 45 — 2x, and the breadth is 24 — 2x.

Therefore, the volume V(x) of the box is given by,
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Vix)=x(45-2x)(24-2x)
= x(1080—90x—48x + 42
=4y’ —138x" +1080x
V' (x)=12x" —276x +1080
=12(x" —23x+90)
=12(x-18)(x—5)
V"(x)=24x—276 =12(2x-23)

Now, Vr“) =0 —x=18and x =5

It is not possible to cut off a square of side 18 cm from each corner of the rectangular
sheet. Thus, x cannot be equal to 18.

Ox =5

Now, V'(5)=12(10-23)=12(-13)=-156 <0

-~ By second derivative test, x = 5 is the point of maxima.
Hence, the side of the square to be cut off to make the volume of the box maximum

possible is 5 cm.

Show that of all the rectangles inscribed in a given fixed circle, the square has the
maximum area.

Answer

Let a rectangle of length / and breadth b be inscribed in the given circle of radius a.

Then, the diagonal passes through the centre and is of length 2a cm.

Now, by applying the Pythagoras theorem, we have:
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(2a) =F +b*

= b’ =4a" -I"

= bh=+4a" -1

OlArea of the rectangle, = Néa’ =TI’

2
=da' -1 +]———e=(-2/ =x,'4c:3—a’2—f—
2J4at =1 { ) Jaat -1

_da’ -2

aa P
Jaa’ 1 (~41) - (4’ —2;3)—{_3”

d*A _ 24a® 1>
dl’ (40’ - 1)
B [4a-’ - }(—4:) + f[4u-’ -2r")
(4a” -1 )

_l2a+2f _2I(6a’-F)

(4a’ -F}% (4a° -F)%

Nuw*ij—: =0 gives 4a° =21 = 1=2g

= b=+Jda' —2a* =2a° =2a
Now, when [/ = -\."Ea,

A 2(V2a)(6a’-2a") g5
dr 2\2a° P NeTS

=4 =)

- By the second derivative test, when! = \Eﬂ , then the area of the rectangle is the

maximum.

Since! =b 2‘45“, the rectangle is a square.

Hence, it has been proved that of all the rectangles inscribed in the given fixed circle,

the square has the maximum area.
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Show that the right circular cylinder of given surface and maximum volume is such that
is heights is equal to the diameter of the base.

Answer

Let r and h be the radius and height of the cylinder respectively.

Then, the surface area (S) of the cylinder is given by,

S =2m" + 2urh

S - 2m
= h=""""
2ar
ifl]_,.
2mi s
Let V be the volume of the cylinder. Then,
_ . 81 | s .
V=mh=nr |— —]—r ——ar
2ol | 2
iV S . dV
Then. ‘ ——3mr-, — = —bmr
dr 2 dar-
4”’; .1 ] 5 S
MNow, ‘ 0= —=3m" = -
cdr 2 om
I.1 -V ( I I.1 ]
When r~ =—. then —=-6m| ,[— |<(O.
n - RLLY
A
, &
r=—=
O By second derivative test, the volume is the maximum when bm
Y 6 (1)
Now, when 7~ =—, then ii= | - |—1' =3r-r=2r
n 2o )

Hence, the volume is the maximum when the height is twice the radius i.e., when the

height is equal to the diameter.

Of all the closed cylindrical cans (right circular), of a given volume of 100 cubic
centimetres, find the dimensions of the can which has the minimum surface area?

Answer
Let r and h be the radius and height of the cylinder respectively.
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Then, volume (V) of the cylinder is given by,
V=marih=100 (given)

100
e

Sl

Surface area (S) of the cylinder is given by,

4 5 2
S=2nr 4+ 2urh=2nr" +E
-

.',d—"’=4ﬂr—2qﬂ. dh‘? =4-1L+4[}.UI
s Y r
@ =0 = 4dar= @
dr r
. 200 50
=P =—=
4n T

1
3
= pr=|—
T
|
Now, it is observed that when r = [E) . S

)
dr’

=0,

T

OBy second derivative test, the surface area is the minimum when the radius of the

e
| — | cm
cylinderis® ™
| |
3 2 3
Whenr:[ﬂj Ch= 100 — = 230 . =2[EJ cm.
n 2 n

LR
. 3 3
ﬁ[ﬁﬂ] (50% ()
i
Hence, the required dimensions of the can which has the minimum surface area is given
1 |
r’S[}]s (Sﬂ]J
—_— cm —_— cm.
by radius = - T and height =  ®

Question 22:
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A wire of length 28 m is to be cut into two pieces. One of the pieces is to be made into a
square and the other into a circle. What should be the length of the two pieces so that
the combined area of the square and the circle is minimum?
Answer
Let a piece of length / be cut from the given wire to make a square.
Then, the other piece of wire to be made into a circle is of length (28 — /) m.

!

Now, side of square = 4

1
2nr =281 = r=—o/(28-1).
Let r be the radius of the circle. Then, 2n

The combined areas of the square and the circle (A) is given by,

A = (side of the square}’ +

- ‘;ﬁ + i'[|:2]n (28 !}I

= 1

=t —(28-1)
16 4:1[ )
d4 21 2 I
So—=—t—(2B-N)[-1)=———(28-]
dl 16 4?:{ )= 8 zsrc[ )
I:'|1l_':1:—I+L;~tTI'
di* 8 2n
Now, EE=U = i—i{23—3}=ﬂ
dl 8 2n
— g _
o 4(28 _o
8n
= (n+4){-112=0
“
e 112
n+4
- 2
o112 dA

Thus, when  T+4 dl’

,_ 112

. By second derivative test, the area (A) is the minimum when  T+4 .
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Hence, the combined area is the minimum when the length of the wire in making the

112
square is T+4 cm while the length of the wire in making the circle
112 28
28 L cm
is T+ 4 T+ 4

Prove that the volume of the largest cone that can be inscribed in a sphere of radius R is
8

27 of the volume of the sphere.
Answer

Let r and h be the radius and height of the cone respectively inscribed in a sphere of

radius R.

Let V be the volume of the cone.

1,
V==mrh

Then, 3
Height of the cone is given by,
=R+VR -r’ [ABC is a right triangle]

h=R+ AB
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S :%m'3 (R+dRz—r2)

1 |
= R+—ml R -
3 3

dv 2 2 = 1, (-2r)
i —jnrR+3m R —r +3m' 2\.'—}22 —
:Em-fwgnrwf’ - —]—TEL
3 3 3 (g2
_ Em-ﬁ . Enr{Rz —rz}— wr
R -
=Em‘.*€ . 2R = 3w
3 WR -7
X WR 7 (20R? -9 ) - (20rR® ~ 37 ) (-2r)
&V _2mR ( )-( ° )ﬁm
dr’ 3 o(R* - 1)
2 R}{HE —rz}(in.ffz —9mr? )+2m‘2 R +3nr

=_—mR+

]_-7 ¥. .
or= 2R RIR =3 2R

N) S
= 4R (R* )= (3 2R*)
— 4R 4R =0t 4R 1207 R?

— Opt = QR
.
9
s . )
When r” = ER', thend—_, =10,
9 dr-

[0 By second derivative test, the volume of the cone is the maximum when

8

e

9
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thnr::ERf.h:E+ IIRE—gﬁ'::R+ lRE:R+E:iR_
9 9 9 3 3

Therefore,

V4
:lnﬁﬁ*JFHJ
3 A9 3
4
-8 —nk
2743

8 .
=57 x ( Volume of the sphere)

i

. . .8
Hence. the volume of the largest cone that can be inscribed in the sphere is P

the volume of the sphere.

Show that the right circular cone of least curved surface and given volume has an

altitude equal to *-"E time the radius of the base.
Answer
Let r and h be the radius and the height (altitude) of the cone respectively.
Then, the volume (V) of the cone is given as:
V =lﬂrr:h:>h= E—P
am »
The surface area (S) of the cone is given by,

S = nrl (where / is the slant height)

=mrr +
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6mr =
re e LA

3n'rt —atrt —9p?
RRTE Y]
2t —9p”
2n°r® —9y?
das g

Now,—=0=2n'r* =9} = =
dr 21

P

Thus, it can be easily verified that when 2ndr

6 9y*
I -
O By second derivative test, the surface area of the cone is the least when 2

1
.9t 3 3 (2n%" )2 3 2’
When r" =—— h [ ] J ‘J{ J2r,

-

b ¥ 3

R = 2 9

¥ mr- -
Hence, for a given volume, the right circular cone of the least curved surface has an

altitude equal to *-"E times the radius of the base.

Show that the semi-vertical angle of the cone of the maximum volume and of given slant
-1

height is lan ‘-E

Answer

Let @ be the semi-vertical angle of the cone.

i e {ﬂ. E},
It is clear that 2

Let r, h, and / be the radius, height, and the slant height of the cone respectively.
The slant height of the cone is given as constant.
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1\

=
Now, r=/sin 8 and h =/ cos 6

The volume (V) of the cone is given by,

= §:r|:{f2 sin® 9) (1cos@)

|
=§m" sin” cosd

j—; = ?[ﬁn! 6(-sin@)+cos@(2sin @ cos 6‘]]

= FTHI:—sin]+ 2sinfcos ' :I
3

EV : . T 3 =2
d - =f—n[—35m' Heos?+2cos @ —4sin’ {Jcost?]
dés 3
I 1 . 3
=TJ[|:ECDS & —Tsin’ tﬁ'cos{i]
|
MNow, =0

= sin’ @ = 2sin @ cos’ @

=tan’' @=2
::»tanﬁ':\ﬁ
=@ =tan"'2

Now. when & = tan™' \."5. then tan® @ =2 or sin” @ = 2cos’ 6.
Then. we have:

:!- 1
L =l:—ﬁ[2i:us'1 8-14cos’ E]: Al cos 0 <0 for fel0, =
de- 3 2

-1
OBy second derivative test, the volume (V) is the maximum when ¢ = tan \E .
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Hence, for a given slant height, the semi-vertical angle of the cone of the maximum

. - /2
volume is tan “-"r:

The point on the curve x> = 2y which is nearest to the point (0, 5) is

(2v2,4) ) (242,0)

(A) (B
(C) (0, 0) (D) (2, 2)
Answer

The given curve is x> = 2y.

i ¥
(x, _J.
2

For each value of x, the position of the point will be

)
B2 ?J
The distance d(x) between the points , and (0, 5) is given by,
| 2 T
. 2 A | A ) .
d(x)= |(x-0) +| T =5 | =[x+ 255 = [T 45?425
\ S A V4

| (13 - E.r] _ {_.‘c] - Sx}

d'[_t}
| 4 -l_ 2
5 Il.x Ay 405 \f.x 16x° +100
\ 4
Now, a”{x]=ﬂ:>x3 —8x=10
= x{_ﬁ:: —R) =]

=x=0.£242
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JF 6 7100 (337 - 8) (" -8 4 321

4 2
And.d"(x)= 24x* ~16x +100

(x* =165 +100)
(x* =165 +100) (35" —8) =2 (x" —8x)(x"—8x)

3
2

(x* 1657 +100)

(x* ~16x* +100)(3x* ~8) -2 (x* ~8x)

(x*—lax2+lﬂﬂﬁ

x =0, then ff"{x] = &}_8} < ().
When, 6

When, ¥~ 1242, d"(x)=0.

OBy second derivative test, d(x) is the minimum at¥ = 4242

(43

x:iE-u'E,y:—:dl.

When

[i2J§,4]

Hence, the point on the curve x> = 2y which is nearest to the point (0, 5) is
The correct answer is A.

Question 28:

l-x+x°
For all real values of x, the minimum value of I+x+x" s
(A)Oo(B)1

1
(C)3 (D) 3

Answer
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{I+x+.x2][—] +2x}—(l—x+x:){l +2x)

s x)=
(x) (I+.~:+x:)2
_-|+2.‘€—I+2.{'3-.‘{'2+213-]—2.T+.1’+2_1’3-12-213
(I+x+_1r2)2

o -2 2(x"-1)

(I+x+xl}: (I—Hc+:r3):r

LfN(x)=0 = X =1 x=+1
2[(|+x+x“ ) (2x¢)—(+ —l){Z}{l+x+x3){l+2xﬂ
[lJr:«:+Jr3]4

4(l+.t:+x3)[(l+x+x3)x—[x —I][l+2x}]

4
[I+x+xg]

Now, ["(x)=

- 4[.‘: +xt e = =2+ 1+ 2.‘:]

- (l+.¥+f):~

4(1+3x—x3]

(I+x+x1)5

wy d0+3-1) _4(3) 4
And SO =y @y 9

A1=3+1
F’tls-}-f"(—l]={—;}=4(—1]=—4{u
(1=1+1)
OBy second derivative test, fis the minimum at x = 1 and the minimum value is given

f(1)

by | 1+1+1 3

11411

The correct answer is D.

Question 29:

|
fx=1)+1P,0<x=1
The maximum value of [j[x }+ ] e is
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|
|/|_‘.

b | =

(A) 3/ (B)
(C)1 (D)0

Answer

Let flx)= I:J:{.r -1)+ l:l-" :
2x-1

3[x(x-1)+17]

Now, f'(x)=0 = x= %

L f(x)=

Then, we evaluate the value of f at critical point

interval [0, 1] {i.e., at x =0and x = 1}.

.f'{n)=|:ﬂ{ﬂ—l}+ |:|? =1
.f‘{l}=[1{1_1}+1].': -1

B

Hence, we can conclude that the maximum value of fin the interval [0, 1] is 1.

The correct answer is C.

2 and at the end points of the
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Miscellaneous Solutions

Question 1:

Using differentials, find the approximate value of each of the following.

(Y oy
(@) \81) () (33)

Answer

¥ L.
(a) Consider 8

hen, &= (s Ar)i =

33
(34

|
4 )
E] =4 Ay
g1 3 7

Now, dy is approximately equal to Ay and is given by,

Py 1
ﬁﬂ?:[ﬁ ﬁr:]—[ﬂu:] {as_v:x"]
ey
__ 1 ti]= 27 L U 1 gm0
81 4=x8 81 32x3 96

(1

Hence, the approximate value of‘[8
= 0.677.

s —+0.010

1
lT]L 2
= 0.667 + 0.010

(b) Consider? =% " Let x = 32 and Ax = 1.
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1 1 [ | 1
Ay =(x+Ax) S —x 5 =(33) 5 —(32) 5 = (33) 5 -
Then, 2

B |
S33) s =—4 Ay
(33 =5 +A

Now, dy is approximately equal to Ay and is given by,
|
dy = [C{! ]{m L (av) [HSJ:J: "]

(x):
J}—%rmm

(2)

1
{33] is —+[ ﬂ_ﬂl]ﬁ]
Hence, the approximate value of 2

= 0.5 - 0.003 = 0.497.

Question 2:

. log x
flx)="2%
Show that the function given by ¥ has maximum at x = e.
Answer
log x
The given function is /(x) = :
X
f 1 ]
.LL —logx
. x 1-logx
fi(x)=—T =58
X X
f'(x)=0
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= logx=1
= logx = loge
= Xx=e

x:f—l_J—(l—lr:rgx}(Ex]

Nc:w~_,a"”{1']|= v X

4
¥

x—2x(1-logx)

x

—3+2logx

- x.l

14 e —34+7 —
Now, £*(¢) = 3 2110-&,12 3-:— _ zl":ﬂ

e e e
Therefore, by second derivative test, f is the maximum at x =e.

The two equal sides of an isosceles triangle with fixed base b are decreasing at the rate

of 3 cm per second. How fast is the area decreasing when the two equal sides are equal
to the base?

Answer
Let AABC be isosceles where BC is the base of fixed length b.
Let the length of the two equal sides of AABC be a.

Draw ADOBC.
A
i, il
B & D & C
7 i

Now, in AADC, by applying the Pythagoras theorem, we have:

—
I b

AD ,lllluJ _:
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-

l . b
(A) _h\IIH —T

[0 Area of triangle

The rate of change of the area with respect to time (t) is given by,

dd 1 b 2a da ab da
dt 2 [, b dr \Jag —p* di
2 |a -
Vo4

It is given that the two equal sides of the triangle are decreasing at the rate of 3 cm per
second.

/ .

9 _ 3 emis
0 dr
od4 3ab

Cd Vda® - b

Then, when a = b, we have:

d4  -3b° -3b°

— - Jﬂ - = — = _VEIFJ

di  Jap'—p*  3°

Hence, if the two equal sides are equal to the base, then the area of the triangle is

decreasing at the rate of v3b ':m"’fs.

Find the equation of the normal to curve y? = 4x at the point (1, 2).

Answer

The equation of the given curve is? — 4y

Differentiating with respect to x, we have:

2y£=
clx
d_4_2
dv 2y
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Now, the slope of the normal at point (1, 2) is ¢
COEquation of the normal at (1, 2)isy — 2 = =1(x — 1).
Oy—-2=-x+1

Ox+y-3=0

Show that the normal at any point 6 to the curve

x=acost!+alsinf, y =asinf —aflcost)

Answer

We have x = acos 6 + a 6 sin 6.

%: —asin&+asin® + af cos & = af cosd

y=asinfd-afcosd
j—; =gcosd—acos @+ alfsind = afsind

dy _dv d6 _aBsing _

S = =tan&
dv  df dv  abcosd

O Slope of the normal at any point 8 is tan @

The equation of the normal at a given point (x, y) is given by,

y—asiné +atl cosdl = (x—acosd—ablsind)

tan &
= ysinf —asin® 8+ af sind cos = —x cost + acos® # + all sin  cosé
= vcosf + vsinf a“m:ﬁlmmﬁnzﬂ
= xcosf+ ysind—a=10
Now, the perpendicular distance of the normal from the origin is

—d| =
==l

TR
yeos B+sin” 6 J1

, Which is independent of 6.

Hence, the perpendicular distance of the normal from the origin is constant.

is at a constant distance from the origin.
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Question 6:
Find the intervals in which the function f given by

) dsinx—2x—xcosx
flx)=

2+cosx
is (i) increasing (ii) decreasing
Answer

()=

dsinx=2x—xcosx

24+cosx
f"( } (2+cosx)(4cosx—2—cosx+xsinx)—(4sinx—2x—xcosx)(-sinx)
X)=

[2+cos.r]1
B (2+cosx)(3cosx—2+xsinx)+sinx(4sinx—2x—xcosx)

- (2+CDS.1‘}2

_ 6eosx—4+2xsinx+3cos’ x—2cosx+xsin xcosx+4sin’ x—2xsinx —xsin xcosx
- 2
(2+cos x)

_ dcosx—4+3cos” x+4sin’ x
(2+cosx}"

_deosx—4+3cos" x+4—4cos’ x

(2+uusx}2
_dcosx—cos’x _ cosx(4—cosx)
(2+cosx)’ (2+cosx)’

—cosx=0o0rcosx =4

But, cos x # 4

Ocosx =0
T 3n
=y=—,—
2 2

.
T AT
Now,x = E and x =

2 divides (0, 2n) into three disjoint intervals i.e.,
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A
J—=,— |,and | —, 27 |.
V2 2 L2 J

2

4

|f n]'xi In) (3n

n dn
L},—] and {—,2;:] ,
In intervals( 2 2 , S(x)=0.

Thus, f(x) is increasing for

3
[%.%‘J,,f'{x; <0,
In the interval
b1 In
— X —
Thus, f(x) is decreasing for 2 2

Find the intervals in which the function f given by'
(i) increasing (ii) decreasing

Answer

f[x} =y +XL_,

\ , 3 3x"-3
()= S

x X
Then, f(x)=0=3x"-3=0=x"=1=x=1%]

x im
ﬂ{.t'{—ﬂﬂd?{.‘({ 2.

flx)=x"4 L,I,x;tﬂ
' x is

Now, the points x = 1 and x = —1 divide the real line into three disjoint intervals

(—e0,-1),(-1,1), and (1,0),

i.e.,

(—o0,—1) and (1,20)

In intervals

Thus, when x < —1 and x > 1, fis increasing.

/(%)<

Ininterval (-1, 1)i.e.,, when -1 <x< 1,

Thus, when —1 < x < 1, fis decreasing.

i.e., when x < —1 and x > 1,-{'{"'}

=),

0.
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Find the maximum area of an isosceles triangle inscribed in the ellipse @ b’ with

its vertex at one end of the major axis.

Answer

The given ellipse is a b

Let the major axis be along the x —axis.

Let ABC be the triangle inscribed in the ellipse where vertex C is at (a, 0).

Since the ellipse is symmetrical with respect to the x—axis and y —axis, we can assume

the coordinates of A to be (—x3, y1) and the coordinates of B to be (—xy, —y1).
I
W=t—ya —-x
Now, we have d

b =)
—X — i — X
Ikl 1\|
o

OCoordinates of A are * /" and the coordinates of B are

( b =
| X, ——+Ja’—x |
I a

A

As the point (x1, y1) lies on the ellipse, the area of triangle ABC (A) is given by,
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L P el e e e CNaEe)

i
= A=ba’ —x -4-_1r|—:',,|l';:1'2 -x (1)
. ﬂ -2xb g9
. el gm HEE
= L[—x,n& [ai —xf] —xf‘]
b(—Z.I,"' —xd +a*)

a\/cr: —x/
dA

Now, —=10
dxl

= -2x} —xa+a* =0

_ at,|a’ —4{—2]{&'2)
2

=X =
(-2)

_at O

—4

_at3la

—4

i

=X =-a, —
2

But, x; cannot be equal to a.
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a , a'  ha Iy \Eb
VL = 1 = -— = =
N T TN T T2 T 2
- X =2
Ja'=x (—4x, —a}—(—Zx,‘ —xa+ a-‘]i
d’A b 2y/a’ -x}
NU“"; _2=_ 7 3
X, 4 a- —x
(a* = )(=4x, = a)+ x (-2x" = xa+a’)
= E
(¢ -2)
3 2y =3ax—a’
- 3
(o)
o
X =—
Also, when 2 , then
a & . S
2— -3 —ua - —-a
dd_b|7g "o | _bla 27|
by 3a 1 d 3a° 1
) )
9 5
a
=—£< 4 P ()

a
X =—.
Thus, the area is the maximum when 2

O Maximum area of the triangle is given by,
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[ 2 3 | . 2
A:h|a-_i+(£‘£ a2 -2
\ 4 12)a\ 4

J3 '/iﬁ'éxu\'ﬁ
S

§
-
[
S,
=]
]

A tank with rectangular base and rectangular sides, open at the top is to be constructed
so that its depth is 2 m and volume is 8 m>. If building of tank costs Rs 70 per sq meters
for the base and Rs 45 per square metre for sides. What is the cost of least expensive
tank?

Answer

Let /, b, and h represent the length, breadth, and height of the tank respectively.

Then, we have height (h) =2 m

Volume of the tank = 8m?>

Volume of thetank =/ x b x h

O08=/xbx2

_>)'b:4_:-h=?

Now, area of the base = /b = 4
Area of the 4 walls (A) = 2h (I + b)

TR
dl N b
MNow, (.F_AZO

dl
Jl—i=ﬂ

‘r.
=] =4
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However, the length cannot be negative.
Therefore, we have | = 4,

4 4
JI_}I =—=—=7
[ 2
d’4 32
0“'. - =—{
ar-
When [ =2, ”h';i =§ =4=0.

Thus, by second derivative test, the area is the minimum when / = 2.
We have/=b =h = 2.

OCost of building the base = Rs 70 x (/b) = Rs 70 (4) = Rs 280
Cost of building the walls = Rs 2h (/ + b) x 45 = Rs 90 (2) (2 + 2)

= Rs 8 (90) = Rs 720

Required total cost = Rs (280 + 720) = Rs 1000

Hence, the total cost of the tank will be Rs 1000.

The sum of the perimeter of a circle and square is k, where k is some constant. Prove
that the sum of their areas is least when the side of square is double the radius of the
circle.

Answer

Let r be the radius of the circle and a be the side of the square.

Then, we have:

2mr +4a =k (where k is constant)

k—=2nr
===

The sum of the areas of the circle and the square (A) is given by,

(k- Em"}?
16
dA 2(k—2mr)(-2m) n(k—2mr)

. =2mr+ =2mr -
dr 16

A=m'+a’ =mw’ +
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i _

MNow, 0
dar
alk-2
ﬁzﬂ;':u
Br=k-2nr
=(8+2n)r=k
;e ko k
8+2n 2(4+m)
Now, ﬁ=2n+n—;}ﬂ
dr” 2
WhenrzL. ﬁ}ﬂ.
2(4% ) dr
I
F=—,
2(47 )

O The sum of the areas is least when

M k
i_k_' [3{4» }]_k{4m}n—k_ sk
2w ) 1T 4 T4a(m ) 44(m )4 w

When » = = 2r.

Hence, it has been proved that the sum of their areas is least when the side of the

square is double the radius of the circle.

A window is in the form of rectangle surmounted by a semicircular opening. The total
perimeter of the window is 10 m. Find the dimensions of the window to admit maximum
light through the whole opening.

Answer

Let x and y be the length and breadth of the rectangular window.

X
Radius of the semicircular opening 2
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m
2
e m—

X

It is given that the perimeter of the window is 10 m.

x4 2y 10
- al

!
_>-J;[l|:II +2y=10
2) 7

= 2y = ]U—x[1+£}
2

"
= y=5 —.1'[lﬂ+—J
2 4

OArea of the window (A) is given by,

s
d__4=5_2x|_+_ +—x
el 2 4) 4

:5—1[1+E1+£T

. 2) 4

d'4 | 11'] n n
cE— e =1
™ L2) 4 4
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ow, ﬂ =10
dx

= 5—x E.'r:l’]
4
o ]'[‘l
= x| 1+—|[=5
4 )
. 5 20
' f|+:lt\' m+4
h, A
20 d* A
x= then ; <0,
Thus, when m+4 dx

20

xXx=
Therefore, by second derivative test, the area is the maximum when length m+4

m

Now,

L

|-.ll=5

20 (24 . 3(2+m) 10
n+4l 4 J m+4 n+4

Hence, the required dimensions of the window to admit maximum light is given

length = 20 m and breadth = m.

by n+4 m+4

A point on the hypotenuse of a triangle is at distance a and b from the sides of the

triangle.
]
o2 2z
at +h3
Show that the minimum length of the hypotenuse is * 4
Answer

Let AABC be right-angled at B. Let AB = x and BC = y.
Let P be a point on the hypotenuse of the triangle such that P is at a distance of a and b

from the sides AB and BC respectively.
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Let OC = 6.

A

B C

We have,

AC=x° +y:

Now,

PC = b cosec 6

And, AP = a sec 6

LAC = AP + PC

OAC=bcosecH +asech.. (1)

~d(AC)

do

_d(AC)

e =

= gsec ftan @ = beosecd cot &

a sing b cosd

cosd cosf sind sind

= asin’ @ =bhcos’' O

= —hcosecd cot # + asecf tan &

0

1 |
= (a)isin® =(b): cos@

1
::rtan(’:?:[b]'
o

1

(5) (a)

sesind=———— and cosf = ——— [2}

'I.,Ia3+b§ 'I.,I.:J'§+4!:i

It can be clearly shown that d'j:C} < () when tan# = [E] .

.

o
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Therefore, by second derivative test, the length of the hypotenuse is the maximum when

tand = [E]l .
a

tan = ;—JJ
Now, when ~40 we have:
\/ﬁ [z 2
3 3 | 3 3
ac= N *b7  aNa'+h [Using (1) and (2)]

h? a’

[ 272 2
=Va® + b} h-‘+a-‘}

3
2 23
[u-‘ +:‘:-‘J

Hence, the maximum length of the hypotenuses is

) . 4 3
Find the points at which the function f given by f {'T}_{'T_E} {'T+ l} has

(i) local maxima (ii) local minima
(iii) point of inflexion

Answer

f{.r}={.‘r—2}; [.1'+]};.

The given function is*
. f'(:r}: 4{.?—2}3{.r+l]3 +3(_'r+l]: [_1:—2}4
=(x=2) (x+1) [4(x+1)+3(x-2)]

=(x=2)"(x+1) (7x-2)

Now. f'(x)=0 = x=-1 undx=% orxy=2
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2 2
= =:f(x)>0.
Now, for values of x close to 7 and to the left of 7 Also, for values of x close to
2 2
= =.f(x)<0.
7 and to the right of 7
2
r=—=
Thus, 7is the point of local maxima.
2 f"{,'r} <)

Now, for values of x close to 2 and to the left of " Also, for values of x close to

2 and to the right of 2, ! {'l.} = (),
Thus, x = 2 is the point of local minima.

Now, as the value of x varies through —1, / {T} does not changes its sign.

Thus, x = —1 is the point of inflexion.

Find the absolute maximum and minimum values of the function f given by
S(x)=cos’ x+sinx,xe[0.n]
Answer
f(x)=cos” x+sinx
f'(x)=2cosx(-sinx)+cosx
—2sinxcosx+cosx
Now, f'(x)=0

=> 2sinxcosx =cosx = cosx(2sinx—1)=0

= siny=— or cosx =10

[

_'>.\'=E, or Easxe[ﬂ,n]
6 “

T T
x=—and x = —
Now, evaluating the value of f at critical points 2 6 and at the end points of

the interval[u'n] (i.e., at x = 0 and x = n), we have:
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[ ‘BY 1 s
) —|—Lm —+5|11— | +—==
\ 2 4
,,r"[ﬂ]:cos’ﬂ+smﬂ=l+0=l
f(n)=cos’ n+sinm= (—I}z +0=1
_f'[E] —cos’ TysinE=0+1=1

2 2 2

5 ‘= T

Hence, the absolute maximum value of fis 4 occurring at 6 and the absolute

T
x=0,—,andm.
minimum value of fis 1 occurring at

Show that the altitude of the right circular cone of maximum volume that can be
i

inscribed in a sphere of radius r is 3,

Answer

A sphere of fixed radius (r) is given.

Let R and h be the radius and the height of the cone respectively.

The volume (V) of the cone is given by,
R
I"’ =:'.|TH-.IE?

i |

Now, from the right triangle BCD, we have:

BC=vr -R’
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.'.V:%:rr.""c'j [1'+\Er"'—R3)=%IR2r+%nR2m
5 2 _
: A2 Rr+— Jth'{i R _( ZH)

drR 3 3 Zv'rr
2
=—11:R‘r+—1rRx|"r -R -
3 Wr-R

9 ZJIR(J": —Rz)—m‘f'

=—7Rr+
3 WK - R

2 xRt -3nk’
= Eﬂﬂr e

>

W =R

V
Now, d— =0
dR-

2nrk fimf — 2k
i -'\
3Wrt - R
= 2rJr' =R =3k =27
= dr*(r - R)=(3R* —2r*)
= 4 — 4 R =9R + 4 —12RY?
=R -8R =0

= QR =8
:)Rjzgi
l;l
a % 5 5 k] 3 ]
W =R 2o —9nR ) - (2R - 3R ) 6R
Now a"V:_Z;r[r ’ ( " i ] ( o " ){ }Zwr:—Rz

a3 9("-R)

WK R (2077 —9nR )+ (2nRr —3nR° (3R ,_]
2w r (:rtr T )+(Ir.= T ]( }2 "

2nr
3 9(r* - R*)
Now, when R* = E;- . It can be shown that ;: < (),
R = E

O The volume is the maximum when 9
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g Ry’ T 4
, » . . 8r ” roodr
When R° = ——_ height of the cone = r+‘jr‘ -——=r +\' =r+—=—.
9 9 9 3 3
Hence, it can be seen that the altitude of the right circular cone of maximum volume
4r

that can be inscribed in a sphere of radius r is 3,

Show that the height of the cylinder of maximum volume that can be inscribed in a
2R

sphere of radius R is \*"E . Also find the maximum volume.

Answer

A sphere of fixed radius (R) is given.

Let r and h be the radius and the height of the cylinder respectively.

From the given figure, we have /1= 2R -
The volume (V) of the cylinder is given by,



Class XII Chapter 6 - Applic;tion of Derivatives Maths

V=mrih=2m R -

’ 2t (-2
RPN o el (2r)
dr 2R -

3 3
= 4ar JF-E:—J'"‘?—i
N o

Ay (R? -7 )-2m"

- [R? _ 2

_ durR’ —6mr
VR =
dv .
Now, — =0 = 4wk —6mr' =0
dr
2
e 2R
3
VR~ (4nR’ ~18m" ) - (4nrR’ 61 (-27)
Now. LV _ N
Dw* 2 - - il
dr- (R” —r”)
(R"‘ — ](41{33 -1 Em‘?] + r[ihrf'R‘: —631::"‘1)
- 3
(Rz _ r?);
ArRY -22n R 4120 + 4’ R
- !
(Rz —1'3)2
W &
Now, it can be observed that at 3
, 2R
P = —

OThe volume is the maximum when

3
g2 = 2R o [ o2y K2R
When 3 3 3 “E

, the height of the cylinder is

o P

Hence, the volume of the cylinder is the maximum when the height of the cylinder is
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Show that height of the cylinder of greatest volume which can be inscribed in a right
circular cone of height h and semi vertical angle a is one-third that of the cone and the
4 .,
— i tan” o
greatest volume of cylinder is 27
Answer
The given right circular cone of fixed height (h) and semi-vertical angle (a) can be drawn

as:

=

F s G

Here, a cylinder of radius R and height H is inscribed in the cone.
Then, OGAO =a, OG=r, OA=h, OE =R, and CE = H.

We have,

r=htana

Now, since AAOG is similar to ACEG, we have:

A0 CE
0G EG
SN |EG =0G -OE]|
ror—R
h h |
= H==(r-R)= (htana - R) = (htana — R)

” fitaner tan o

Now, the volume (V) of the cylinder is given by,
'S ., TR

T (htano.— R)=nR"h- T

lan o Lan o

V=unR"H =
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dV

Now,—=10
dR
2Ry = 2

tan

= 2htana = 3R

ﬁﬁz%tanrz

N:mud-li =2nh- L
ar” tan &
2}
= = tan ¢r
And, for 3 , we have:
B 2
Il I1 i O 7
ik taner |, 3 J

OBy second derivative test, the volume of the cylinder is the greatest when

R :%tan .
3

-

_';.i' I f 2
When R =—tanc. [f = htan o —

a tan o,

il“”frlzhh dnh=-2nh<0

Thus, the height of the cylinder is one-third the height of the cone when the volume of

the cylinder is the greatest.

Now, the maximum volume of the cylinder can be obtained as:

2k i

n

L3

Hence, the given result is proved.

hy (4R VR4
taner | | — | :r| —tan” o :J —mh tan &
Jl3) Lo \3) 27

A cylindrical tank of radius 10 m is being filled with wheat at the rate of 314 cubic mere

per hour. Then the depth of the wheat is increasing at the rate of

(A) 1 m/h (B) 0.1 m/h
(©) 1.1 m/h (D) 0.5 m/h
Answer
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Let r be the radius of the cylinder.
Then, volume (V) of the cylinder is given by,

V' = n(radius ) % height
x(10)" & (radius =10 m)
=100mh
Differentiating with respect to time t, we have:

[
W _1o0n "
dt dlt

The tank is being filled with wheat at the rate of 314 cubic metres per hour.
dV

—=314m'/h
0 dr

Thus, we have:

3I4=]If]'l}r:ﬁ

dt
dh __ 314 314 _

:>__—
dr 100(3.14) 314

Hence, the depth of wheat is increasing at the rate of 1 m/h.

The correct answer is A.

=t +3t-8,y=2"-2t-5

The slope of the tangent to the curve™ at the point (2, —1) is

2 6 7 -6
A 7@ 7@ b 7
Answer

The given curve isx:"3+3f—3 and y=2r" =213,
dx v
W o4 3and L= 2

Ly _dy di_4r-2

E ar dv 243

The given point is (2, —1).
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At x = 2, we have:
P +3r-8=2
=" 4+31-10=0
= (1-2)(t+5)=0
—t=2ort=-5
Aty =-1, we have:
27 -2t —5=-1
=27 =2t —4=0
=2(rF =1-2)=0
= (1=2)(r+1)=0
=r=2ort=-I

The common value of t is 2.

Hence, the slope of the tangent to the given curve at point (2, —1) is

ﬁ-‘ ~4(2)-2 §-2 _6
dx _,=:_

The correct answer is B.

The line y = mx + 1 is a tangent to the curve y? = 4x if the value of m is

| =

(A)1(B)2(C)3(D)

Answer

The equation of the tangent to the given curveis y = mx + 1.

Now, substituting y = mx + 1 in y? = 4x, we get:

— [nz,r+l}" =dx
= mx +1+2mx—4x=0

= m'x" +x(2m—4)+1=0

2(2)+3 443 7

Since a tangent touches the curve at one point, the roots of equation (i) must be equal.

Therefore, we have:
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Discriminant =0

(2m—4)’ —4(m*)(1)=0

= 4m’ +16—16m—4m” =0

= 16-16m=0

—m=1

Hence, the required value of mis 1.

The correct answer is A.

The normal at the point (1, 1) on the curve 2y + x* = 3 is
(A)x+y=0(B)x—-y=0
Ox+y+1=0D)x-y=1

Answer

The equation of the given curve is 2y + x* = 3.
Differentiating with respect to x, we have:

2dy

= 4 2x=0)
dx

— e — -
dx

2]
U dy 1.0)

The slope of the normal to the given curve at point (1, 1) is
-1

=1.
afv}
dx J

Hence, the equation of the normal to the given curve at (1, 1) is given as:

:>_1-'—I=I[x—l}
= y—l=x-1
= x-—y=0

The correct answer is B.
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The normal to the curve x> = 4y passing (1, 2) is
(A)x+y=3B)x—-y=3
Ox+y=1D)x—-y=1

Answer

The equation of the given curve is x* = 4y.
Differentiating with respect to x, we have:
2x=4. &
dx

dy

i

dr 2

The slope of the normal to the given curve at point (h, k) is given by,
-1 2

afv} Tk

dx f 0

COEquation of the normal at point (h, k) is given as:
)

v=k=——(x-h
y-k=2(x-n)

Now, it is given that the normal passes through the point (1, 2).
Therefore, we have:

3 9
2—k=—"(1-h)ork=24+=(1-h (1)
2(1-n) ork=2+2(1-n)
Since (h, k) lies on the curve x> = 4y, we have h? = 4k.
:>k=h_
4

From equation (i), we have:
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h

—=2+

2
—(1=h
m )

::»%:2;”2—2,@:2

=i =8
= h=2
k=T
4
Hence, the equation of the normal is given as:
-2
= yp—-l=—(x-2
y-1=">(x-2)
= y-1=-(x-2)
= x+y=3

The correct answer is A.

The points on the curve 9y? = x>, where the normal to the curve makes equal intercepts
with the axes are
8

r4‘i_} L4.—
ORI GC REE

’4+§] (14 3]
o' oyl

Answer

{8

The equation of the given curve is 9y? = x>.

Differentiating with respect to x, we have:

9{2_1-‘)% =3y’

dy  x°

dx_a

The slope of the normal to the given curve at point (5 'L'} is
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-1 6y
dv X
dx

e BB

. X, ).
O The equation of the normal to the curve at (5 '1"} is

_E) 3
Y= = —If" (x—x).

= J'IIZ.V - xlz.}ll =—0xy, +6x,y,

= 6xy, + X,y =6x), + X, ),

6w . Xy )
bx v, +x ¥, 6xy +x ¥
X J.‘
= + =1
x(6+x) »y(6+x)
] X,

It is given that the normal makes equal intercepts with the axes.

Therefore, We have:
x(6+x) y(6+x)

6 X,
Loh
6 x
= x =6y, ()

Also, the point{x"}"} lies on the curve, so we have
9y = x i)

From (i) and (ii), we have:

232 s
Q[% :xf—';-'%'::i,’ﬂxlzﬂr
/

From (ii), we have:
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9y7 =(4) =64
, 64
= W =
9
8
=y ==
3

{

4.4 i},
Hence, the required points are*

The correct answer is A.



